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A�� ��	�� ��� ����
����� �� 	��0��	� ���� � �� ��������	� A ��� BB Xi 6i ∈
1, 2, 3, 4, 57�
��������
,
��� ���� �	���� X1,A = 100 .���D�8 X1,B = 0 .���D�8 ����	�� �������� pR =

4 ���8 ����	�� 	������	��� TR = 320?8 ������	
�� 	��. 	������	��� TS = 345?8
��� ������� ��	
� �� A 
�	� ����� ����� ηA = 0.988 �� ���� �� �� �
��0����
���
������ ��	�
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� 	�� ����	��8 ��� 	�� ������ �������� pS 
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�������� pR 
� 	�� ����	��8 ��� ���� ����	
��� xA ��� xB 
� 	�� ����	��F� ����B

ζ = 0.93 exp
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−0.76

pR
TR

− 0.22
xB
xA

)

/����0�
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� 	�� ������	
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� �������� �
	� ���
:�� �������
������ ����	
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PyA = γAxAp
◦
A

PyB = γBxBp
◦
B

����� x ��� ���� ����	
��� 
� �
��
�8 y 
� �����8 ����� ��������� p◦ �� ���� �����0
���	� �	 	������	���� T ��� �������	�� �
	�

lg p◦A = 2.033− 77.4246

T − 230

lg p◦B = 1.0044− 123.14

T − 230
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	�� ���� �� x = g(x)B

�� X2,A = X1,A +X4,A

�� X2,B = X1,B +X4,B


� X3,A = (1− ζ)X2,A

#� X3,B = X2,B + 2ζX2,A

�� ζ = 0.93 exp

(
−0.76

pR
TR

− 0.22
X2,B

X2,A

)
�� X4,A = X3,A −X5,A

%� X4,B = X3,B −X5,B

!� X5,A = (1− ηA)X3,A

*� X5,B = X5,A
p◦AγA
p◦BγB

X4,B

X4,A

��� p◦A = 10
2.033− 77.4246

TS − 230

��� p◦B = 10
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− 0.22
xB
xA

)

� Xki,A = (1− ζ)Xbe,A
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	���	
�� � �����

&�	 ������ �� ���
����� �� V 8 ������ �� ����	
��� 6����	��
�	�7 �� E8 
���
������ �� ������� F = V − E� "��� ��	 ��� F ���
�� ���
����� ��	 ���
	
���� k
	���
�� ���
����� ���� ���� �� �����	��� -= �(���
��	 �� 	� �������
�� 	�
� 	��. 
�
:��	 	�������
� ����	
�� k ����	
���8 :��
�� �� �� ��
� �������	
�� �������� �
	�
F + k � ��	��	
��� ���
�� ���
�����8 ��� 	��� �����	
�� k �� 	��� 	� �� 	���
��
���
�����8 	���	��� �
	� ��0
�����
�� 	�� k 	�������
� ����	�� ����	
���8 ����
��
	�� ���	 F 	� �� ���� ���
�� ���
������
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� ���� 
� ������	��	�� 
� 	�� ������
�� ����� �(������ &�	 	�� ��
�
���
������� ��B

x1 x2 x3 x4 x5 x6
f1 � �
f2 � � �
f3 � � � � �
f4 � � �

2��� V = 68 E = 48 ��� F = 2� -� ��
� �������� �����	 �� ����� �
��� ����
���
���� 
� ������� 	� �	 ����	 � ����	
���8 
��� k = 1� "�������� �� 	�������
� 
��
	 ��� ����	
��H ��	 
	 ��8 L��	 � ������8 	�� :��	 ���B

x1 x2 x3 x4 x5 x6
f2 � � �
f3 � � � � �
f4 � � �
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	 ������� 	�� ���
��	��	 ���� ���� �	��� ����	
��� 2������8 ��� �� 	��� ������ �� 	����� ���. 	�
������ �� ��	��	 ���
���� ���� f1� &�	 
	 ��8 ��� �(�����8 x1� -�	�� ���
���	
�� 	��
���8 ��� x1 
� �������	�� ���� 	�� ����	
���8 f1 ��� f28 
��	��� �� ���� "��������
�� ���� 	� 	��� ���. ��� �� 	�� ���� ��	��
�� 	� f28 ��� 	�
� ��������� ��� ��
������� ��
�� ��	�� �� 	�� ����� ��	
� ���
�
�� 	� � � ��	��	
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���
���
�� ���
���� 
� ��0����
:�� �� � 	���
�� ���
����B $	 ��� 	� �� ��	
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� Lj + sj 8 
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� Vj + Sj 8 
	� ���� ����	
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�� ������	 �
	� A�� ��	� sj ��
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�����
�� ����� �
��	 �� ��� ��	 �� �
��������	 �� 	��	 ��� Vj ������� 	�� ��(	
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	� �	��� j8 ��� ���� 	�� �	��� j + 1 ����� ������� Vj+18 ������	��
=�� �
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��� "���� ������	
��� ��� � �
	 �������
�	 	�� 	�� ���0��
�	� 6	�� ��� ��		��7 �� 	�� �������

���� �
	� A�� ��	� Fj 8 ������
	
�� zj 8 ��� ���� ����� ��	���� Hj �� ���
��
	� �� �	��� j� 2��	 ��� �� 
�	������� 	� �� �	��� j �� Qj� 65���	
�� Qj �����
����
���7

$� 	���� ��� C ��������	� 
� 	�� ������� 	��� �� �	��� 
� �����
��� � 3C +9
������ ���
������

"�� �	��� �	�	� ����� ����
�	� �� # ��
� ����	
�� ������8 	�� ��0������ 4��2
����	
���8 ��� ���
	
���� �(
�
�� ����	
�� ������� "���� ��� �� ������8 
� ���� ��
N �	�����

2-#3 �����	�
� "���� ����	
��� ��� ����	�� 	� �	����B 6��������	72�	��
��
�������� ������ ���� �	���8 -��
�
��
�� ����	
��� �� ���� �	���8 ���� ����	
���
#�� ����
	
��� 6�� 	� �7 �� ���� �	���8 ��� 3��	 ������� ������ ���� �	���B

6P2P7B )�������	 ����� �������� ������ �	����

Lj−1xi,j−1 + Vj+1yi,j+1 + Fjzi,j

− (Lj + sj)xi,j − (Vj + Sj)yi,j = 0 (i = 1 . . . C; j = 1 . . .N)
6���7

"���� ��� ��
��	� ���
:�� �	 	�� ��� ��		�� �
��� 	���� 
� �� �	���� 0 �� �	����
M + 1�
6P-P7B 9���� ���
�
��
�� ����	
���� "���� ��� �� �� �� ����8 ���� 	�� ���
��������	�� � ���
�
��
�� ��	
�� Ki,jB

yi,j = Ki,jxi,j (i = 1 . . . C; j = 1 . . .N) 6��%7
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� ��	� ������ 6
��� Sx ��� Sy7

−1 +
C∑
i=1

xi,j = 0 (j = 1 . . .N) 6��!7

−1 +

C∑
i=1

yi,j = 0 (j = 1 . . .N) 6��*7

6P3P7B �	��� ���	 ��������

Lj−1hj−1 + Vj+1Hj+1 + FjHj +Qj

− (Lj + sj)hj − (Vj + Sj)Hj = 0 (j = 1 . . .N)
6����7

����� ����� ����
�� "�	�� ����� ������� �� 	�� �	��� ��� ���� �� ��
		��B

Lj−1 + Vj+1 + Fj − (Lj + sj)− (Vj + Sj) = 0 (j = 1 . . .N) 6����7

��	 	�
� 
� � ����
��	
�� �� 	�� ��������	 ��������8 ��	 
���������	 �� 	����

4�5	�	��� �����	�
� "���� ��� ��
�� ��	�
��� ���
�
��
�� ������ ��� �����	0

�� Ki,j8 ��� �
���� %8 ����
�
�� � ����	
�� ��

Ki,j = K(Tj, pj ,xj ,yj , i) (i = 1 . . . C; j = 1 . . .N) 6����7

�� ���� �� ����	
��� ��� ����� ��	����
��B

hj = h(Tj, pj ,xj) (j = 1 . . .N) 6���
7

Hj = H(Tj, pj ,yj) (j = 1 . . .N) 6���#7
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�� ���
	
���� ���
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�
�� ����	
���8 	����
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����� ��� N(3C + 5) ����	
���8 ��� 	�� ������� ��
������� 
� N(C + 4)�
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�	���� ������ ������
�� 	� �� �
��� C����� �� ���
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����
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�� αi = αi/∗B

yi,j =
αixi,j∑C

k=1 αkxk,j

6
���
�� &�� ����� C���� ���
�� ���
����� ��� �
�	
���	� A�� ��	� D ��� ��A�(
��	
� RH ����� A�� ��	�� 
� 	�� 	�� �� 	�� ������ ��� �� ��	���
���B

L0 = RD

V1 = (R+ 1)D

"�� �	��� A�� ��	�� ����� 	�� ������ ��� �� �������	�� �
	� ��	��
�� ������� ���
���	���� ���� �'� ��� �����(
��	
��B

Lj = Lj−1 + qjFj − sj (j = 2, . . .N)

Vj+1 = Lj + sj + Vj + Sj − Lj−1 − Fj (j = 1, . . . N − 1)
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����	
���2 6���7 ��� �
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��	�8 ���
�����8
��� �
��	 ���� �
��� �� ����	�� �� �������B⎡

⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

b1 c1
a2 b2 c2

� � �
� � �

� � �

aj bj cj
� � �

� � �
� � �

aN−1 bN−1 cN−1

aN bN

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
×

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

x1
x2
���
xj
���

xN−1

xN

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
=

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

d1
d2
���
dj
���

dN−1

dN

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

	��� 
	 ��� �� 	���������� 	� �
�
������8 ��
�� #��		 ��
�
��	
��B⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

1 g1
1 g2
� � �

� � �

1 gj
� � �

� � �

1 gN−1

1

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
×

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

x1
x2
���
xj
���

xN−1

xN

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
=

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

u1
u2
���
uj
���

uN−1

uN

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

���� 	�
� ���� 	�� ��.����� ��� �	 ���� ��� �� �(�������� "�� ����	
�� ���������
���.� �
	� 	�� ���
	
���� ���� �B gj ��� ujB

g1 =
c1
b1

u1 =
d1
b1

gj =
cj

bj − ajgj−1
(j = 2, . . . , N − 1)

uj =
dj − ajuj−1

bj − ajgj−1
(j = 2, . . . , N)

xN = uN

xj = uj − gjxj+1 (j = N − 1, . . . , 1)
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�� �����7B
Tj 8 Lj 8 Vj 8 hj 8 Hj 8 xi,j 8 yi,j 8 ��� Ki,j 6
Q�8 �8 � � � 8 C7 6LQ�8 �8 � � � 8 N78 
���
N(3C + 5) ���
������ "�
� ��� �� � ����� ������� ��� �(�����8 �
	� C = 5
��� N = 70 6� �����8 ������	� ����� �������7 	�
� 
� � � �	�� �� �#�� ���
�����
��� ����	
���� "�
� ��� �� ��������� � ����
���
�� 	�� ��(
�
�� ����	
��� ��
����	
��� ��� ����	
	�	
�� 	��� 	� 	�� 4��2 ����	
���� $� 	��	 ���� 	�� ������
�� ��.����� 6xi,j 8 yi,j 8 Tj8 Lj 8 Vj77 
� ��������� 	� N(2C + 3) �

���� 	�
� 
� � ����� � �	��8 910 × 910 
� 	�� ����� �(������ 5�	� ���� 	��	
���	
�� ���
��	
��� 6��	�
�� �� 	�� $���(
�� ��	�
(7 ��� ������ ��� �������
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���
�
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	���	
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��� ��� =��� 6�� ���� � ��	��� ������ ��	�
(7
��	8 ���� ��8 ��� ���
��	
��� ���� 	� �� �����	��8 ��� ��� �� 	��� ��� ��
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Ki,j =
γi,j(Tj,xj)xi,jp

◦
i (Tj)

pj

������
�� 	� 	������	��� ��� �� ������	 	������	��� ���������� �� γi,j B

∂Ki,j

∂Tj
≈ γi,j

pj

(
dp◦i
dTj

)
Tj

3�� 	�� 	�� ���	 .���� ��	���� ��� ����	�� �����

�����������	
���� �����
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"�� ��	��� ����
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��
� ��� ����� ��������	 A�� ��	��

li,j = Ljxi,j

vi,j = Vjyi,j
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��	��� �� ���� ����	
���� $��	��� �� ���� 
�� �����	
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Lj =

C∑
i=1

li,j

Vj =

C∑
i=1

vi,j

���

xi,j =
li,j
Lj

yi,j =
vi,j
Vj

	� 	�� �	��� ����	
���� "�� ����
�
�� ����	
���28 -8 ��� 3 ���

li,j−1 + vi,j+1 +Fjzi,j −
(
1 +

sj∑C
k=1 lk,j

)
li,j −
(
1 +

Sj∑C
k=1 vk,j

)
vi,j = 0 62i,j7

vi,j

C∑
k=1

lk, j −Ki,j li,j

C∑
k=1

vk,j = 0 6-i,j7

hj−1

C∑
i=1

li,j−1+Hj+1

C∑
i=1

vi,j+1+HjFj+Qj−hj
(
sj +

C∑
i=1

li,j

)
−Hj

(
Sj +

C∑
i=1

vi,j

)
= 0

63j7
$� ��(
�
�� ����	
��� Ki,j 8 hj8 ��� Hj ��� ����	
	�	�� �� ����	
��� 	��� 	����

��� ��� N(2C+1) ����	
��� 	� �� ������ ��� ���
����� li,j 8 vi,j 8 ��� Tj � �
���
� 
��
�����(
��	
��� ���  �	 �������� 
� �����	
�� 	�� $���(
�� ������� 	�� ������
�� ���	
�� ���
��	
��� 
� � ����� ������ ���� ��	�� 	�
� �����	
�� �� ������

"�� ��	��� ��� �� ���	��� �
���
:�� � ���� 
�� ����	��	 ����� ����A�� 6����0
	
���� B �����
�� ���	
���
�� ����	��	 Lj ��� Vj7 �� 	��	 ���
����� vj ��� ����������
$� 	�
� �� 	�� $���(
�� ������� � 	�
�
������ � �����	�
(8 ���
�� 	� ���� �
	��
)���	��	 ����� ����A�� 
� �� �����	���� �����(
��	
�� 
� ��� ������
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� ��	���8 :��	 ����
���� � /	

 N� ���� 
� �*%
8 ����
���� xi,j 8 Tj8 ��� Vj ��
���
� 
���������	 ���
������ /���� ���� ����	
��� ��� �(������� �
	� ���
�
��
��
��	
�� �� 6��%78 ��� �
��
� A�� ��	�� ��� �(������� �
	� ��	��
�� �������B

Lj = Vj+1 − V1 +

j∑
k=1

(Fk − sk − Sk) 6R7
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��� 	��� �(�����
��� 6��%7 ��� 6R7 ��� ����	
	�	�� 	� 	�� ����� 6���78 6��!78 ���
6����7 �� ����	
���28 #8 ��� 38 ������	
��� � $� 	�
� �� 	�� ������ �� 
������0
���	 ���
����� 
� ��������� 	� N(C + 2)�

$	 ������	� ���	
�� ���
��	
��� �� ���
�
��
�� ��	
�� Ki,j � 	������	��� Tj ���
	��� ��������	 ���� ����	
��� xi,j H 
	 �����	�� ���	
�� ���
��	
��� �� ��	����
��
hj ��� Hj � 	������	��� Tj ��� 8 ������	� 	�� �	����� "�
� �
��� �
�� 	� � ����
��
����� �� $���(
���

1��
���� Mi,j 8 Sj 8 ��� Hj 	�.� ����� 
� 	�� �
����
=�� ����	
�� � �	�� �� 	��
������ ��	���8 ����
�� 	� 
�������	 ���
����� ∆xi,j 8 ∆Tj 8 ��� ∆Vj H 	�� �
�����	
�� 	���� 
� ����	
�� ����� ��� ���
���� Sj B

C∑
i=1

∆xi,j = −Sj

����	
�� ������ ���
��� ���� ��������	 �������� ��� �� ���	�� ������
�� 	� ���0
�����	�8 
� 	�� ������
�� ����B⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

∗ ∗
∗ ∗ ∗
� � �

� � �
� � �

∗ ∗ ∗
� � �

� � �
� � �

∗ ∗ ∗
∗ ∗

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
×

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

∆xi,1
∆xi,2
���
∆xi,j
���
∆xi,N−1

∆xi,N

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
+

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

∗ ∗
∗ ∗
� � �

� � �

∗ ∗
� � �

� � �

∗ ∗
∗

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
×

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

∆T1
∆T2
���
∆Tj
���
∆TN−1

∆TN

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

+

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

∗ ∗
∗ ∗ ∗
∗ � � �

� � �

∗ ∗ ∗
∗ � � �

� � �

∗ ∗ ∗
∗ ∗

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
×

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

∆V1
∆V2
���
∆Vj
���
∆VN−1

∆VN

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
= −

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

Mi,1

Mi,2

���
Mi,j

���
Mi,N−1

Mi,N

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

(i = 1, 2, . . .C)

����� �� ����	
��� ���
��� ���� ��	��� ��������B⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

∗ ∗
∗ ∗ ∗
� � �

� � �
� � �

∗ ∗ ∗
� � �

� � �
� � �

∗ ∗ ∗
∗ ∗

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

∆T1
∆T2
���
∆Tj
���
∆TN−1

∆TN

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
+

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

∗ ∗
∗ ∗ ∗
∗ � � �

� � �

∗ ∗ ∗
∗ � � �

� � �

∗ ∗ ∗
∗ ∗

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

∆V1
∆V2
���
∆Vj
���
∆VN−1

∆VN

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
= −

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

Hi,1

Hi,2

���
Hi,j

���
Hi,N−1

Hi,N

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦
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�� ��	
�� Ki,j 
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� 	��
��������	 ��������� @��� ��������	 �������� ��� ������ ��� � �
��� �����0
���	 i8 	�� ���� ����	
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� �����	�� 	� ��� �	����B xi,18 xi,28
� � �xi,j 8 � � �xi,N 8 
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X (T, p) = X� (T, p) + ∆TpX

�� 	��	 	�� �����	��� ����	
�� 
�

∆TpX ≡ X (T, p)−X� (T, p)

"� �������	� � ��	��	
�� ����	
��8 ��� �� �	��	 ���� 	�� ������
�� �������
	������ ���
� ����	
��B

(dA)T = −p (T, V ) dV

���� ����� �����	��� 
� ��	�
��� 
� �������� 
� 
�	����	�� �	 ����	��	 	�����0
�	��� ����� ����� ������ ���� 	�� ��������� �	�	� �� 	� 	�� ��	��� �	�	� �� 	�� ����
���B

∆A = −
��
��� �
�
�∫

��������� �
�
�

p (T, v) dv
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2��� v 
� 	�� ����� ������ 
���( ��� 
�	����	
�� ������� V 
� 	�� ��	��� �����
�������

"�
� 
�	����� ���� ���� �� 
���� �	�	� 	� � ���� �	�	� ��� 	�� ��	� ���� 	��
������ 	� 	�� ��		�� �����	 �� ���
� ������� @� �	
�
=� 	�� ���	 	��	 �� ���
������� �� 
���� ��� �	 
�:�
	� �
��	
��� "�� 
�	����� 
� ���������� 
�	� 	�� ���	�B
��� ��� � ������	 6
����7 ��� ���� 	�� ��������� �	�	� 	� 
�:�
	� ����� ������ ���
���	��� ��� ��� 	�� ���� ��� ���� 
�:�
	� ����� ������ 	� 	�� ��	��� ����� �������

/� ��	� �& � (
� � 
�. �
'�� � �		� � ��� ������ ����� ��� �  �&� ���� ���'���
�
��*

∆Tp∗A = −
V∫

∞
p (T, v) dv −

∞∫
V ∗

p� (T, v) dv

�����

V ∗ =
RT

p∗


��� �� 
�	����	� ���� 	�� ������	 ��� �
	� ������ ���������
�� 	� 	�� ���������
�������� 	� 	�� ��	��� �	�	� ���� ��	��
��� 2������8 	�� 
�	����� �� 	�� 
���� ���

� ��	 ���������	 ����� "�
� ���	��.�� 
� �������� � ���
�� ��� ���	���	
�� 	��
���� 	���

V∫
∞

RT

v
dv

�� 	��	 �� ��	

∆Tp∗A = −
V∫

∞

[
p (T, v)− RT

v

]
dv −

V∫
∞

RT

v
dv −

∞∫
V ∗

RT

v
dv

�����	
�� 
�

∆Tp∗A = −
V∫

∞

[
p (T, v)− RT

v

]
dv −RT ln

V

V ∗

∆Tp∗S = −
(
∂∆Tp∗A

∂T

)
V

=

V∫
∞

[
∂p (T, v)

∂T
− R

v

]
dv +R ln

(
V

V ∗

)
−R

�����
V

V ∗ =
V p∗

RT
= Z

p∗

p

��� Z 
� 	�� ��0������ ��������
�
�
	 B

Z ≡ pv

NkT
≡ pv

nNAT
≡ pV

RT
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��8 	��
��	��� �������� 
� ����	
	�	��B

∆TpA = −
V∫

∞

[
p (T, v)− RT

v

]
dv −RT lnZ 6���7

∆TpS = −
(
∂∆TpA

∂T

)
V

=

V∫
∞

[
∂p (T, v)

∂T
− R

v

]
dv +R lnZ −R

3��� �� .��� ���� ����� ��� ��	��� 8 ��� �	��� �����
� �	�	� ����	
��� ��� ��
�(�������B

∆U = ∆A+ T∆S

∆H = ∆U +RT (Z − 1)

∆G = ∆A+RT (Z − 1)

����� %����� �	
�������� �	� ���
� 
��������	

@� ��� 	�� ������� ���� �� 	�� ��� ��� ����� ����	
�� 
� ��� �(�����B

π =
8ϑ

3 η − 1
− 3

η2

$	� ϑ = 0, 75 ������� 	������	��� 
��	���� 
� ����� 
� �	�� ���� "�� ���
�
��
��
������� �������� ������
�� 	� 	�
� 
��	���� 
� π◦ = 0.282463� - ���
=��	�� �
��

�	�����	
�� ���� 	�� 
��	���� 	�� ������� ����� ������� 6ηL = 0.489631 ���
ηV = 5.643057 �� 	�� 	�� ���
�
��
�� ������ 6LQF&
��
�F8 VQF/����F7 
� ���� �����

� 	�� :����� "�� ������	
�� ���
=��	�� ���	
�� ������	�� ����� ����� ����� ���
����� 	�� 
��	����� "�
� 
� ��� 	� ���� ��	 ��� � .�������� ��	�
��� ��	��
������
�� 	�� ������B 
� 	���� ��� 	�� ������ 	��� 	�
� ���� ���	 �� ����� 3� 	��
�	��� ����8 	�
� ���� 
� ��	 � ������ �� ������	
�� 
�	� �������

-�����
�� 	� 	�� ����
	
��� � ���
�
��
�� 	������ ���
��8 ����
�� 	�� ������
�� �� ������ ��� � ���
�� ��� �� 	�� ��	��	
�� ����	
��� ��		�� ����� 	��� �
	�0
��	 
	� )���
��� ��� � ������� ������ ��	���� 	�� 	�� ���0��
�	� �� 	�� ���
=��	��
������	
�� ���	
�� �� 	�� ���� 
��	���� �� ������� �������� π = 0, 282463�

-	 �
��� 6:(��7 	������	��� ��� ���� '�����8 	�� ���
�
��
�� �	�	� 
� ����0
��	��
=�� � �
�
��� �� 6���	�
��� 7 ���� ����� A� "�� �����

∆TV A

RT
= − 9

8ϑη
− ln (η − 1/3)

�� 	�� ������� ���� ����� �����	��� 6∆TV A/RT 7 ������
�� 	� ������� 	������0
	��� ϑ = 0.75 
� ����� 
� .����� ���� "�� ������ 	�����	 �
�� ����� 	� 	�
�
����� �	 ������� ����� ������� ηL = 0.489631 ��� ηV = 5.64305 
� ���� �����
���� ����� 	�� ����� ��	���� 	�� 	�� 	�����	 ��
�	�8 
��� 	�� ���� ����� �� 	��
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π

π0

η
0���

0���

���

���

���

���

���

� � � 
 # � � % ! *

�
���� ���B $��	���� �� ������� �3�

π

∆A

RT

η
0
��

0���

0���

0���

0���

0���

���

���

���

���

���

� � � 
 # � � % ! *

�
���� ���B 1������ 62������	=7 ���� ����� ��� ���
�
��
�� �
�	�
��	
��
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π

∆G

RT

η
0���

0���

0���

0���

0���

���

���

���

���

���

� � � 
 # � � % ! *

�
���� ��
B 1������ 6,
���7 ���� ��	���� ��� ���
�
��
�� �
�	�
��	
��

����������� ��	��
�� 
� ������ 	��� ���	 ��� �� ��	�
��� � ����
�
�� 	�� 	��
������ �	 	�� ����� ������ �����
�	�� "��	 
� �� 	�� ����������� � �	�� 
�
���	���� ���
��	 ����
�	 A��	��	
��� 
��
�� 	�
� ���	
��� "�� ���� ���
�
��
�� ����
����� ����	
�� ���� ����� 	�� ������ 	�����	 �
�� ��	���� 	�� 	�� ���0��
�	��

"�� ������ 	�����	 �
�� 
�	�����	 	�� ���	
��� �(
� 6η = 07 �	 −1.13839� S��
��� ����. � 	�� ������� ����	
��

p = −
(
∂A

∂V

)
T

	��	 	�
� 
� L��	 	�� ������� 6,
���7 ���� ��	���� �����	��� 6∆TVG/RT 7 ������
��
	� ������� ����� ������� ηL = 0.489631 ��� ηV = 5.64305B

∆TVG

RT
= − 9

4ϑη
+

3η

3η − 1
− ln (η − 1/3)

"�� ����� �� ������� ���� ��	���� �����	��� �����	�� 	� ������� 	������	���
ϑ = 0.75 ��� 	�� ���
=��	�� �
�� �	 0���
!
* 
�	�����	
�� 	�� ���� ��	���� �����
L��	 �	 ������� ����� ������� ηL = 0.489631 ��� ηV = 5.64305 ��� ���� �����

� �	�� ���� "�
� ������	� L��	
:�� 	�� .�������� 	��	8 �
��� 	������	���� ���
��������� �� 	�� �
�	�
��	
�� ������ ��� �����8 	�� �(	����� ��
	��
�� ������
��
	� �
��� �������� ��� 	������	���8 
��� ����� ���� ��	���� 8 ��� ����� ������ 
�
	�� 	�� ������� �,���
�. �& �
� & �� �	�������� 
� 	�� 	�� ������ 
� ����		� .
����
	
�� �� ����� ���
�
��
��8 ������� �
�
��� �& ����� & �� �	���� �	 �
���
	������	��� ��� ����� ������ 
� 	��
	&���� . ����
	
�� �� ����� ���
�
��
���
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�� �� 	�� �������
���� � ��������
�� 
	 ����.	 (�	�� �� 	��� �,���
�� �& 	�����

$� 	�� ���� ��������� �	�	� 
� ����
�� 	� ��	� ������ 	��� ����.
�� �����
	 ��
	�� �����	��� 
� ������� �
��� 	�� 	������	���� ��� �����8 	�� ������
�� �����
	 
������ ���� �� ��	
�:��B

∆GI

RT
=

∆GII

RT
6��%7

)����� �� ���� ��	���� �� ������	 ��� �	 ����	��	 	������	���B

(dG�)T =
RT

p
dp = RTd (ln p)

"�������� ���� ��	���� �� ������	 ��� ��� �� ��
		�� ��B

G� (T, p) = G� (T, p)−G� (T, p∗) = RT (ln p− ln p∗) = RT ln
p

p∗
6��!7

�����	��� ���� ������	 ��� �����
�� ��� &� ����. �� �(������� � ����	
	�	
��
���� ������	 f 
� ����� �� �������� p� "�
� ������	 f 
� ������ .����	�� �
�.��
� ����� � ����	
��

G (T, p) ≡ RT ln
f

p∗
6��*7


� ��+�
�
�� �� �����
	 �
)�����
��� �� 6��!7 ��� 6��*7 ������� 	��	 6�����
	�� ��7 �����
	 
� ������ 

����	�� 	� ���� ��	���� �����	��� ∆TPGB

∆TPG ≡ G (T, p)−G� (T, p) = RT ln
f

p
≡ RT lnϕ 6����7

$� 	�� ���� 	
��8 ����	
�� 6����7 
� ��:�
	
�� �� .����	�� ���<�	�
� ϕB

ϕ ≡ f

p

5������� ����
	
�� �� ���
�
��
�� 6��%7 �� 	��� �� ��
		�� ��

f I = f II 6����7

��
lnϕI = lnϕII 6����7

"�� ���� 6����7 
� ���� ��� ������
�� ����� ���
�
��
� �� ���� ��	��
���8 	�� ����
6����7 
�8 
� ������� �(������� 6��� ���	
��� %�<�� ��� %�<�%78 ��� 	��	 �� �
(	�����

&����
	�� �� �����
	 ���'�
��	 ��� �� ���
� �(������� ����� �� �����	���
�������	
���B

lnϕ ≡ ln
f

p
≡ ∆TPG

RT
≡ ∆TPA

RT
+ (Z − 1) 6���
7
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���'�
��	B

lnϕ (V, T ) = −
V∫

∞

[
p (T, v)

RT
− 1

v

]
dv − lnZ + Z − 1 6���#7

C�
�� 	�
� 
�	����� 	� �������� �����
 �������	 �� ����� �
��� �
�� 	� ������
������� ��� �����	
�� �����
	�� �� �����
	 ���'�
��	 
� ����	
�� �� ���� ����	
��
V ��� 	������	��� T �


�� " ��� ���� #���� �!��	
��� �� �	�	��

%��	� �����	�
�

"�� :��	 ���
� ����	
�� �� �	�	� 
� 	�� ������ ����	
�� �� ��� ��� ������ ���� B

(
=� p =
RT

V − b
− a

V 2
6����7

"�
� ������� � ���� ������ �����8 �
	� �����
�� ������ ��	
� b/V � ���� 	�
�
��	� � ����	
�� ��	���� ������ ���
�� σ ��� ������	�� b ��� �� �������	��� "��
������ ������ �(������� 	�� �>��	� �� �		���	
�� ��	��	
��� "�� ������
�� ����	
��
��� �� �
��� ��	���� 	�� ������	��� ��� � 
�
��� ����B

a =
27

64

R2T 2
c

pc

b =
RTc
8pc

Zc =
3

8

����	
	�	
�� 	����8 ��� ��	�
�� 	�� ������� ���� �� 	�� ����	
��B

(
=�� π =
8ϑ

8 η − 1
− 3

η2

"�
� � ����	
��� ����
��	
�� �� ����������
�� �	�	��F 	������� 2������8 ������	��
a 
� 	������	��� ��������	 ������
�� 	� �(���
���	�B a = a(T )�

"�
� ����	
�� ����
��� �
	� � ����
	�	
�� �����
�	
�� �� �����
��� �� ���0�����
��	��
���� ������� 	�
��� ���� ���� ���� 	� 
������ 
	� �����
�
	 ��� ��.� 
	
���� 	� ��� ��� ����	
	�	
�� ������
�� �� ����� 4��	 ����
�� ��� 	�� ������
�� 	��
���
��	�B

����	
�� ���� �� �
����
�  �!�"# 6������
�	�� �� 917B
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�"� p =
RT

V − b
+

a(T )

V 2 + 2bV − b2

����	
�� �����$� � %�
��  �!&!# ���
:�� � �
���  �!�'# 6������
�	�� ��
�1? �� 1?�7B

#">� p =
RT

V − b
+

a(T )

V 2 + bV

����	
�� a = a(T ) ��� �� ���������� 
� ��	� ����	
��� ��

a(T ) = acα(T )

��� ������	��� ac8 b ��� �� �(������� � ��
	
�� ��	�� ��� �(�����8 
� ����	
��
�1?B

ac = 0.42748
R2T 2

c

pc

b = 0.08664
RTc
pc

-����(
��	� 	������	��� ���������� ��� ���0����� ��	��
��� 
�B

α(T ) =
[
1 +
(
1−
√
Tr

)
f(ω)
]2

����� ω 
� 	�� ��0������ ����� 
�
�. &���� 6� ��	��
�� ������	 78 ����� ��:�
	
��

��������	�� � ��	
� �� 	�� ����� �������� �������� �	 %�G �� ��
	
��� 	������	���
	� 	�� ��
	
��� ��������B

ω ≡ − log10

(
p◦T=0.7Tc

pc

)
− 1

��� ����� �� ����	
�� f(ω) 
�B

f(ω) = 0.48 + 1.57ω − 0.17ω2

-��	��� ����	
�� ���� 
� ����
�� 	� ����� ��	��
����
)��
� ����	
��� ����� ���� ������ ��� ����� ��
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�	 ���8 ����	
���8 ����
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�
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� ���0
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Z ≡ pV

RT
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� �(������ ������
�� 	� ρ ������ ρ = 0 6V = ∞7B

Z ≡ pV

RT
= 1 +

∞∑
n=2

Bn

(
1

V

)n−1

"�� �	����� 
���(
�� ��� �(�����	� ��� �(���
��� � 	�� ������
�� ���
��	B

?	�	���
p

RT
=

∞∑
n=1

Bn

(
1

V

)n
≡ 1

V
+

∞∑
n=2

Bn

(
1

V

)n

"�� ������ �������	�� ��� �	
���	
�	� �� ρ ��� V � ������� �� �(����
��
������ ρ = 0 6V = ∞78 ��� 	��� 	�� ��� ��������	 �� 	������	��� ��� � "��
:��	 ���'�
��	 
�8 ��	����� 8 B1 = 1H 	�
� 
� 	�� ��� ���'�
��	 �� ������	 ���� "��
�	��� ���'�
��	� ���

Bn ≡ 1

n− 1

(
∂n−1

∂ρ2

(
p

ρRT

))
ρ=0

"��� 	�� ����� ��� 	������	��� ���������� �� 	�� ���'�
��	� ��� �� ��	���
���
���� ���
�
��� pVV VT 6
��� pVρVT 7 ��	�� "�� ���'�
��	� ��� �� �������	�� 
� ����
�� �
���� ������ �
.� ���� ������� "�� ���'�
��	� ��� 	������	��� ��������	B
Bn(T )� ������ �
�
�� ���'�
��	 B2(T ) ��� ����
�� �
��
:����� ������� 	�
� 
� 	��
:��	 ���'�
��	 �(�����
�� �����	��� ���� 	�� �����
��� �� ������	 ������

/
�
�� ����	
��� ��� �� �(������ 	� ���
	��� ������8 ��� ���	
����� �����
���
��	� �� �� 
����	��� ��� �(�����8 ����	
�� <@1 6(�����$�������������
�!&) 7 ����
�� ���� �� �(�����	
�� ������B
7="�

p =
RT

V
+
B0RT −A0 − C0

T 2

V 2
+
bRT − a

V 3
+
aα

V 6
+

C

T 2V 3

(
1 +

γ

V 2

)
exp
(
− γ

V 2

)
"�
� ����	
�� ��� % ������	��� ��� :	� ���� 	� 	�� ��	� �	 �
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�� ���
���� ��� ����� ����������
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�

&
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�� ��� ����� A�
�� ��� �����(
��	�� 
���������
��� ����� 	�� ���� ������
����� ��� �� ����
�� 	� 	��� �
	� �������� ����	
�� �� �	�	� �� ���$�� ��� *���$+ B

�@;�1�
p

RT
=

6

π

[
ζ0

1− ζ3
+

3ζ1ζ2
(1− ζ3)2

+
3ζ32 (1− ζ3)

(1 − ζ3)3

]

-��	��� ����
�� �� 	�� ���$���*���$+ �����B

�@;�1�
p

RT
=

6

π

[
ζ0

1− ζ3
+

3ζ1ζ2
(1− ζ3)2

+
3ζ32

(1− ζ3)3

]
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"�� ,������� ��� �������� ����	
�� �� �	�	�B

%#�
p

RT
=

6

π

[
ζ0

1− ζ3
+

3ζ1ζ2
(1 − ζ3)2

+
ζ32 (3− ζ3)

(1 − ζ3)3

]

$� 	�� ����� ����	
���

ζn ≡ πσn

6V
≡ πσnρ

6

"�� ��� ������	�� �� 	���� ����	
��� 
� 	�� ���
�� σ �� 	�� ���� �������
5��0�����
��� ��������� ������ ��� �� 	�.�� 
�	� ������	 �
	� ���� �����

���	���


�� $����%�
!�
� �
�	�
��	
�� �� ���� ��	��
���

@��	��� 	���� 
� ����� �
�	�
��	
�� �	 �
��� �	�	� Ip8T J ��� �� ���
� ��	���
��� 
�
�
���� ����� ����� �� �� ����	
�� �� �	�	� �(������� 	� �������� �� 6���78 ��� 6�	��
���7� $� 	���� 
� �� ���� 	��� ��� ���� V ����� ������ ������
�� 	� 	�� �
��� T
��� P 	��� ������	
�� 
�	� �
>����	 ����� ������� �����	 ������

)��
� ����	
��� �� �	�	�� ��� ������ ���
� ������� �(������� 	� =��� 	�� ���
���
���
��� �� 	�
�� ������ 
� V � ��� � �
��� ��
� �� T ��� P 8 	�� 	���� �����
������ ���	� ��� �� ���� 	
���� �(�������� 3�� �� 	��� 
� ���� � ����H 	�� �	���
	�� ��� �
	��� ���� �� ���� � ��
� �� ���L���	�� ������( ���	�� "��	 
�8 	���� 
�
�
	��� ��� ���� ���	 �� 	���� ��� 	���� ���� ���	�� "�� �� 	���� �� 	��� �� ��
����� 
� 	�� ��		�� ����H 	��� �� �� 
� � ����� ����� 	��	 	���� ��� ��� 	�� ����
���	�8 �� ��� ����

$� 	���� 
� ��� ��� ���� V ���	 	��� 	�� ��	��
�� 
� ������	 
� � �
���� ����0
������� ����� �	 	�� �
��� �	�	� T ��� p� $� 	���� ��� 	���� 6V1 < V2 < V37 ��
	�� 6V1 < V37 �
>����	 ���� ���	� 	��� ��� ��� 	� ����. 
� 	�� A�
� ������	�� 	� �
6�
��
�7 �	�	� Ip8T 8V1J ��� � 6�����7 �	�	� Ip8T 8V3JH ��� 
�  �� 	��� 
� ���	 �����
��	
�� @��	��� 	�� 	�� � ��	��	
��� ������ �� �	�	�� Ip8T 8V1J ��� Ip8T 8V3J ��� 
�
��	��� ���
�
��
�� ��� �� ����.�� � ��
	��
� 6��
7 
��� 6����7 ��� 6����78 ���
�������	
�� �����
	 ���'�
��	� �
	� 6���
7� "�� �������	
�� ��� ����. ����
�	� ��
	�� ������
�� �	���B

4����	��� ?)0� ����� �����������
 ����� 
����������	 �� ���� �������
,
���B 	������	��� T ��� �������� p
&��.�� ���B ��	��� ��� ����� ������� V �� ������

�� $� T > Tc 6��
	
��� 	������	���7 	��� 	���� 
� ��� ��� �������
	
��� ������
�	���
3	����
��B

�� 1��	� V ��� �����	�� �	 �
��� p ��� T � $� ���� �� � ���
� ����	
��8 	��
�����	� 
� �
	��� � �
���� ���	 V �� ���� ���	� V1 < V2 < V3 �� ��� ����
���	� V1 < V3�
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V1 V2 V3

pC
TC

VC

�
���� ��#B 1��	� V �� �� 
��	���� �� � ���
� �3� �	 � �
��� p


� $� 	���� 
� ��� � �
���� ���	 V 	��� 	���� 
� �� ����� �
�	�
��	
��� $� V

� ������� 	��� 	�� ��
	
��� Vc 	��� 	�� ����������� ����� 
� ����
�����
�
��
�8 �	����
�� �� ��� �� ������ �	���
$� 	���� ��� �	 ����	 	�� ���� ���	� 	���B

#� 1��	 V1 
� ����
����� �� � � ��	��	
��� �
��
� ����� ������8 ���	 V3 �� �
� ��	��	
��� ����� ����� �������

�� C��� 	�� ��	��� ���� �� ����	
�� 6���
78 �������	� 	�� �����
	�� �� 	��
�����
	 ���'�
��	� ������
�� 	� 	�� � ��	��	
��� ������B

lnϕ1 ⇐ lnϕ (V1, T ) 6�����7

lnϕ3 ⇐ lnϕ (V3, T ) 6�����7

�� $� 	�� 	�� �������	�� �����
	 ���'�
��	� ��� �����(
��	�� ����� 6	��
�
������	� �
>������ 
� ������� 	��� � �����:��� ����� ���
	
�� ������7
	��� ���	� V1 ��� V3 ��� �����	�� �� ����� ������� �� 	�� ������	
��
�������
4���� ��	
� �� 	�� ������ 
� ��	 ��	���
��� � p ��� T 	���������� -�0
�	��� ������	 �� 	�� � �	��8 ��� �(����� ����� ����� ������ �� ��	��� 
�� 
������ ����� 8 ������ ���� �� .���� ��� ��	���
�
�� ����� ��	
�� �	���

%� $�8 �	����
��8 	�� 	�� ���'�
��	� ��� �
>����	 	��� 	�� ��	��
�� ���� ��	
������	� 
�	� 	�� ������ �	 	�� �
��� �	�	� p ��� T 8 ������
�� 	� 	��
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������ 6"�� ��	�
��� ����� ������ ���	� ��� ��	 
� ��	��� ���
�
��
���7
$� ϕ1 < ϕ3 	��� 	��� 	�� ��	��
�� 
� ����
����� �� ����������� �
��
�8
�	����
�� ��� �� ������ �	���

��� � ���0���
� ����	
�� �� �	�	�� 	�� ����� ������ ���	� ��� ��	���
��� ��0
���
���� �
��������� ?)0 
� ������ ��	 ����
�� 
� 
	����� 65� ���� ��� 	��	�7 $	 �� 

����� �� � ���	 �� ��	���
�
�� ��
�
�� ��
�	 �� ��� ��
�	� "�� ��
�
�� ��
�	 	��0
����	��� TB �	 �
��� �������� p ��� �� ��	���
��� � ��������� �0 B

4����	��� �0�  ����	� ���	� �� ���� ��������
,
���B �������� p
&��.�� ���B ��
�
�� 6���7 ��
�	 	������	��� TB

�� $� p > pC 6��
	
��� ��������7 	��� 	���� 
� �� ��
�
�� ��
�	� �	���
�� ,���� 	�� ��
�
�� ��
�	 �
	� ���� T < TC �

� )��� ��	 ��������� ?)0�
#� $� ���
�
��
�� ����� �
�	�
��	
�� 
� ���
:�� � ��������� ?)0 	���
TB ⇐ T � �	���

�� 3	����
�� ���
� ����� �� T 8 ��� ��	��� 	� �	�� 
�

4��
:��	
�� �� T 
� �	�� � �� ��������� ?)0 
� �� ���� ����	
��� �
>������
�� ��	
� �� �
>������ �� �����
	��� �� 	�� �����
	 ���'�
��	� �������	�� �
	 ����0
	
��� 6�����7 ��� 6�����7 ������� ����	
���� 
� T ���� 	�� ���	H 	��� 	�� �
�����	
�� 
� ���� 
�� �
���	
�� ���	 ������ ��	����

<�
�
�� 6�� ���7 ��
�	 �������� pB ��� ���� �� ���.�� ��� �	 � �
��� 	������0
	��� T � $� 	�
� ���� ����� �� pB 
� ������� �
	� ���� p < pC 8 ��� �����
	 ��
�����
	
�� 
� ����.�� 
� ����	
�� �� pB

4����	��� �0� !���� ��	���	 �� ���� �����

,
���B 	������	��� T
&��.�� ���B ��
�
�� 6���7 ��
�	 �������� pB

�� $� T > TC 	��� 	���� 
� �� ��
�
�� ��
�	� �	���
�� ,���� ��
�
�� �������� � ���� p < pC �

� )��� ��	 ��������� ?)0�
#� $� ���
�
��
�� ����� �
�	�
��	
�� 
� ���
:�� � ��������� ?)0 	���
pB ⇐ p� �	���

�� 3	����
�� ���
� ����� �� p8 ��� ��	��� 	� �	�� 
�

"���� �����
	��� ��� ����� ���� 
� ����	
�� ������� 	�� ����� �������� ����	
��
�� T 
� ������� .���� ��� ��� �� �����(
��	�� � ���� ����	
��� ��� �(�����8
	�� -��
��� ����	
�� 6���
��� ���� ���	
�� ,��������,��.�/�
�7B
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T + C

����� A8 B8 ��� C ��� ������	��� :		�� 	� �������� ��	��
2������8 	���� �����
	��� ��� ����
�� 
� ���
:�� ����� ��� �����	
�� ������

��
�	 ��� ��� ��
�	 	������	���� ��� ��������� �� �
(�����


�� ������ 	����������
�� �� �
&	����

��#�� ����� ��!����


6
��� �	5���� �� ���� ��	��
��� 6���0
���� 
��� 
�������	 �����7 
� ��+��� � 	��
������	 	��	 ���� ��������	F� �����	��� ���� ������	 ��� �����
��� 
� 
������0
���	 �� �������� �� 	�� �	��� ��������	�� $� �	��� �����8 ��� � �
��� 	�	�� ������
N �� ��� ��������� �����
��� �� 	�� Ni ��������� �� .
�� i ���� ��	 ������ �� 	��
.
��� �� 	�� �	��� N − Ni ���������� "�� ������� 	�� ���� 6���	
��7 ��������
��� 
�	����� ����� �� 
� ���� ����8 �
��� 	�� ����� ������ ��� 	������	����
"��������8 
�	����� ����� ��� �������� ��� ���� �� 	�� ������	
�� �� 	�� ���� ���0
�	
	���	�8 ��� 	�� ����
:� 6�����7 
�	����� ����� 
� 	�� ������� �� 	��	 �� ����
��������	�B

U id (V, T,y) =

c∑
i

yiU
◦
i (V, T )

pid (V, T,y) =

c∑
i

yip
◦
i (V, T )

����� ��������
�	 ◦ ������ 	� ���� ��	��
�� �� �  �&� ���� 	���� �& �
-
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��	� 6��� ����B %�<�1 ��� %�<�<7

-	 �
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V id (p, T,y) =

c∑
i

yiV
◦
i (p, T )
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Sid =

c∑
i

yiS
◦
i −R

c∑
i

yi ln yi

Aid =
c∑
i

yiA
◦
i +RT

c∑
i

yi ln yi

Gid =

c∑
i

yiG
◦
i +RT

c∑
i

yi ln yi

�
��� ���� ��	���� 6,
��� ����� 7 
� ��� ��8 ��� 	�� ����� ���� ��	���� 
� 	��
������� ��8 	�� ����
��� ��	��	
���8 	�� ����
��� ��	��	
�� �� � ��������	 
� ��

���� �
(	��� 
�B

µid
i = µ◦

i +RT ln yi

�����8 ������
�� 	� ����	
�� 6��*7 ���
� ��� 	�� ����
��� ��	��	
�� �� ���� ��	��
��B

µ◦
i ≡ G◦

i ≡ RT ln
f◦
i

p∗

6"�� ������	�� ���	�
�� �����
	 �� 	�� ���� ��������	 �	 	�� ��	��� 	������	���
��� ���������7

"��������8 ����	�� .����	�� f id
i �� ��������	� �	 �
��� ��"���� ��� �� ��0

:��� ��B

µid
i ≡ RT ln

f id
i

p∗
≡ RT ln

f◦
i

p∗
+RT ln yi ≡ RT ln

yif
◦
i

p∗
6���%7

"���8 ���	
�� �����
	 �	 �
��� ��"���� 
�B

f id
i = yif

◦
i ≡ yiϕ

◦
i p

2���� ����	�� .����	�� ���<�	�
� ϕid
i �	 �
��� ��"���� ������ �����
	 ���'0

�
��	 �� 	�� ���� ��	��
��B

ϕid
i ≡ f id

i

yip
=
f◦
i

p
≡ ϕ◦

i

$� 
���� �
(	��� �� ������	 ����� ���� ��������	F� �����
	 ������ 	�� ��������8
��� 	��� 	�� ����� �� �����
	 ���'�
��	 
� ��
	 B

f�,id
i = yip

ϕ�,id
i = ϕ�,◦

i ≡ 1

��#�� '��� ��!����
 �� 	�	(�����������
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��� ��	��	
�� �� � ��������	 �	 ���� ��"���� 
� ���� ��
		�� ������
�� 	�
6���%7B

µi ≡ RT ln
fi
p∗

6���!7
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����� 
� �����	
�� 
�
����	
��� 9��	
�� �����
	 ��:��� � 6���!7 ��� �� ���
��� 
� 	�� �
>����	 �� �B

�� /�	���� �& �����
	 ���'�
��	 ϕ◦
i �� ���� ��	��
�� ��� �����
	 ���'�
��	

ϕid
i ���
� 
� 
���� �
(	���8 � ����	�� .����	�� ���<�	�
� ϕi ���
� 
� ����

�
(	��� 
� 
�	�������B
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p = p (V, T,y)

"�� ����	
�� ��������� 	� 6���#7 
�B

lnϕi (V, T,y) = −
V∫

∞

[
1

RT

(
∂ [np (T, v,y)]

∂ni

)
T,(nv),n̂i

− 1

v

]
dv− lnZ 6���*7
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��

yi ≡ ni
c∑

j=1

nj

≡ ni

n
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p = p (V, T ; a, b, c, . . . ) 6����7

	��� ������	��� a8 b8 c8 � � � �	�� ��� ����
����� ������
	
�� ��������	B

a = a(y), b = b(y), c = c(y), �	�� 6����7
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∆EG ≡ G−Gid = G−
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i −RT
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i +RT ln ai

��#�� $��������	
 �� ��� �����!�����	
 �������� ��� ���	�

@��� ��	
�
	 ���'�
��	 
� ����
�� 	� �(����� �����
	 �� � ��������	 
� � �
��
�
�
(	���8 	�� .
��� �� ������	
��� ��� ����B

�� <������ �� 	�� ���� 6���
7 �� ��	
�
	 ���'�
��	 ������8 	�� �� ��	 �(�����
�������� ���������� �� 	�� ���'�
��	� $��	���8 	�� ����� ������	��� ���
��	���
��� �	 ���� ��������� �������� paref 8 ���� �	��������
� ��������� "��
��	
�
	 ���'�
��	 
� ���
� �	 	�
� �������� ��� � "�� �����
	 �������	�� �	
	�� ��������� ��������

fL
i

(
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)
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◦
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�������	�� �	 	������	��� T ���	 �� ���������	�� ���� p◦∀j 	� 	�� ��������� ��������
paref �����
�� 
� 6��
�7B

ln fL
i

(
paref
)
= ln γ̂i + lnxi + lnHi (T ) +

paref∫
p◦∀j

V∞
i

RT
dπ
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� �� ���������	�� 	� 	�� ��	��� �������� p ��� ����
�� 	��

�	������ ����� 	�B

ln fL
i (p) = ln γ̂i + lnxi + lnHi (T ) +

p∫
p◦∀j

V∞
i

RT
dπ

paref 
� ���
� ���������8 ��� :���� B

ln fL
i (p) ≈ lnxi + lnHi (T ) +

(
p− p◦∀j

)
V∞
i

RT

����� 	�� ���	 ������ 
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mi ≡ ni

nWMW

����� W 
� 
���( �� 	�� ������	8 ��		�� @ ������
�� 	� ��	�� 6@�����78 ��� MW
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µi = µref
i +RT ln ai
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� 	�� ���� ��
ai = γ̃imi 6��
�7
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lim
mi→0

γ̃i = 1 6��
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µid
i = µ∞

i +RT lnmi

����� ��������
�	 ∞ ������ 	� �	�	� �� 
�:�
	� �
��	
���
4����
	 �� 	�� ������	 
� �������� ������� 
	 ����� �� ����	��	 1/MW ������
��
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	 �� 	�� ������	 
� �(������� 
� 	�� � ���	�
�
������	
��8 ���� 	� ���� ����	
���8 ������
�� 	� 6���*7B

µid
W = µ◦

W +RT lnxW

&����
	�� �� 1− h ���� |h| � 1 ��� �� ���� �����(
��	�� �
	� −hB

lnxW = ln

⎛
⎝1−∑

i�=W

xi

⎞
⎠ ≈ −

∑
i�=W

xi [= − (1− xW )]

	��� ����
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�� �� 	�� ������	 
� 	�� ����	
�� �	 ��� ������	��	
��� ��� ��
��
		�� ��

µid
W = µ◦

W −RT (1− xW ) = µ◦
W −RT

∑
i�=W

xi
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xi ≈ ni

nW
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��	� ����	���
	� ����	
��� ��� �� ��
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µid
W = µ◦

W −RT
1

nW

∑
i�=W

ni
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�� �� ���� �������
��� �� ��
		�� ��

gid = nW

⎡
⎣µ◦

W −RT
1

nW

∑
i�=W

ni

⎤
⎦+∑

i�=W

[
ni

(
µ∞
i +RT ln

ni

nWMW

)]
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µi = µ∞
i +RT ln (γ̃imi)

µW = µ◦
W −RT

φ

nW

∑
i�=W

ni



%�8� =
-�� � �,���
��	 �& 	����	 %�

g = nw

⎡
⎣µ◦

W −RT
φ

nW

∑
i�=W

ni

⎤
⎦+∑

i�=W

[
ni

(
µ∞
i +RT ln

γ̃ini

nWMW

)]
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3�� 	�� �(�����
�� �� ζ 
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ζn =
π

6

∑
i

σn
i

Vi
≡ π

6

∑
i

(σn
i ρi)
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b =
∑
i

xibi 6��
#7
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b =
∑
i

∑
j

xixjbij

��� ������	�� a �� ���
� ����	
��� 	�� ������
�� ���� ��� ������	�� ���
� � 
��� ��� ����� B

a =
∑
i

∑
j

xixjaij 6��
�7

����� aij 
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bij =

(√
bi +
√
bj

2

)2

bij =

(
3
√
bi + 3
√
bj

2

)3

�� ���� �
�
��� ��	
��	
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�� ��
	���	
� ���� �
��� �
�� 	� ���� 6��
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"�� ����� ��	
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�� ������	�� a 
�

aij =
√
aiaj
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�� ����� kij B

aij = (1− kij)
√
aiaj 6��
�7
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kij = k◦ij +m(xi − xj)

kij = xihij + xjhji

kij = k◦ij + nij(xi + xj)
hijxi − hjixj
hijxi + hjixj
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a =
∑
i

∑
j

xiwjiaji

wji ≡ τijxj∑
k

τikxk

���� �. ��� 
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lnϕi = − ln

(
Z
V − b

V

)
+

bi
V − b

− 2
√
ai

V RT

∑
j

[
xj (1− kij)

√
aj
]
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B2(T ) =
∑
i

∑
j

xixjB2,ij(T )
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RT ln γi =

(
∂n∆EG

∂ni

)
T,p, ̂N
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Φi ≡ xiqi∑
j

xjqj
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∆EG

RT
∑
i

qiΦi
=
∑
ij

aijΦiΦj +
∑
ijk

aijkΦiΦjΦk + · · ·
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∆EG

RT
= (qAxA + qBxB)(2ΦAΦBaAB + 3Φ2

AΦBaAAB + 3ΦAΦ
2
BaABB)

�� � 	��������
�� 	�� ������	���B

∆EG

RT
= AABΦ

2
BxA +ABAΦ

2
AxB

1�	
� �� �>�	
�� ����� ������� ��� �� ��	
��	��� < �����(
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ln γA =Φ2
B

[
AAB + 2ΦA

(
ABA

ρB
ρA

−AAB

)]

ln γB =Φ2
A

[
ABA + 2ΦB

(
AAB

ρA
ρB

−ABA

)]
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2��������
ln γA =x2B [AAB + 2xA (ABA −AAB)]

ln γB =x2A [ABA + 2xB (AAB −ABA)]

$� ���	���	 	� 	�� ����� ������ �����$� ��� %�����  �!&�� �!0'#8 ��	�� 2������
���	8 ����
�� � ��	����	
��� �(����
�� �
	���	 �� �� �
��� ������
��� ��� �
��� 
�
(	���B
∆EG

RT
= xAxB

[
AAB +BAB (xA − xB) + CAB (xA − xB)

2
+DAB (xA − xB)

3
+ · · ·
]
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(�
 )����

ln γA =
AABx

2
B(

AAB

ABA
xA + xB

)2

ln γB =
ABAx

2
A(

xA +
ABA

AAB
xB

)2
6��
!7
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∑
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∆EG = ∆E
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resG
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combG = RT
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xi ln
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xi
+
z

2

∑
i

qixi ln
Φi
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ln γi = ln γcomb
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+ ln
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−uji − uii
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∑
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Φi

xi
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∑
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li =
z

2
(ri − qi)− (ri − 1)
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∑
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�� ��	
��B

Ki ⇐ p◦i
p


� )����	� ����� ���� ����	
���B

yi ⇐ Kixi

#� ��� �� ����� ���� ����	
���B

σ ⇐
∑
i

xi

�� $� σ ������ � �� 	� ���� �����:��� ����� ����� 	��� �����	 T �� ������
��
�	 	������	���B TB ⇐ T 8 ��� �� 	� �	�� ��

%� 3	����
��B 4��
� T 8 ��� ��	��� 	� �	�� ��
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�� 5�����
=� ����� ���� ����	
���B

xi ⇐ xi
σ

�	���

$� σ < 1 	��� T ���	 �� 
��������8 �	����
�� ����������

%�������	
� 
�� ��	
� ����������� 	� 
�
� 	� � �	�	��� ����

��
�	
��� �	��	
 �����

"�� ����	
��� ��� ���������	�� �
	� ��	
�
	 ���'�
��	� �
��� 	�
� ������� ��
�
��
� ������
	
�� ��� 	������	���8 ������ ��
�	 �������	
��� ��� ���
�� 	��	 ���
��
�	 �������	
���� <����� ��
�	 
	���	
��� ��� �
��� ���������	�� �
	� � �	��
��� �������	
�� γi�

4����	��� 7��γ�  ����� ���	� �����������
,
���B �������� p ��� �
��
� ������
	
�� x
&��.�� ���B ��� ��
�	 	������	���TB ��� ���
�
��
�� ����� ������
	
�� y
,����B TB 
� ��	
��	�� �
	� ���� �������
�	� T �

�� )����	� ����� ��������� p◦i �	 T ��� ��	
�
	 ���'�
��	� γi �	 T ��� x�
�� )����	� ���
�
��
�� ��	
��B

Ki ⇐
p◦
i

p


� )����	� ����� ���� ����	
���B

yi ⇐ Kixi

#� ��� �� ����� ���� ����	
���B

σ ⇐
∑
i

xi

�� $� σ ������ � �� 	� ���� �����:��� ����� ����� 	��� �����	 T �� ������
��
�	 	������	���B TB ⇐ T 8 ��� �� 	� �	�� ��

%� 3	����
��B 4��
� T 8 ��� ��	��� 	� �	�� ��
�� 5�����
=� ����� ���� ����	
���B

xi ⇐
xi

σ

�	���
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$� σ < 1 	��� T ���	 �� 
��������8 �	����
�� ����������

4����	��� 9��γ� #�$ ���	� �����������
,
���B �������� p ��� ����� ������
	
�� y
&��.�� ���B ��� ��
�	 	������	��� TD ��� ���
�
��
�� �
��
� ������
	
�� x
,����B TD 
� ��	
��	�� �
	� ��� �������
�	� T H γi 
� ��	
��	�� �
	� ��

�� )����	� 	���
��� p◦i �	 	������	��� T �
�� )����	� �
��
� ���� ����	
���B

xi ⇐ yip

γip◦i


� ��� �� �
��
� ���� ����	
���B

σ ⇐
∑
i

xi

#� 5�����
=� �
��
� ���� ����	
���B

xi ⇐ xi
σ

�� )����	� γi �	 T ��� 	�� ������
=�� �
��
� ���� ����	
����
�� )����	� 	�	�� �������� ���� 	�� �������	�� �
��
� ������
	
��B

π ⇐
∑
i

γixip
◦
i

%� $� p ������ π �� 	� � �����:��� ����� ����� 	��� �����	 T �� ��� ��
�	
	������	���B TH ⇐ T 8 ��� �	���

!� 3	����
��B 4��
� T 8 ��� ��	��� 	� �	�� ��

$� π < p 	��� T ���	 �� 
��������8 �	����
�� ����������

E�
���� ���� ϕ/γ

$� ������
	
�� ��������	 ������	 8 �
.� �����
	 ���'�
��	8 	���� �� �	 ����� �
��8

��� 	���� 
� ���� � 	�
�� �	 ��	� �
���8 	��� �������� 
	���	
�� � ���� ��� ������

� 	�� �������	
���8 	�� ���� �� �� 
� 	�� ��(	 ������	
���

��3�" 4����(������ ��������� ���� ϕ/ϕ

�
���
	 ���'�
��	� ���	 �� �����	�� �	 	�� � �	��F� �������� ��� 	������	���8 �	
	�� ������
	
�� �� 	�� ��	��� �����8 ��� �
	� 	�� ������� �����	�� ����� ������
���	� $� ������ ��
�	 
� �������	�� 	��� 	�� �������	 ��� ���	 �� �����	�� ����
	�� 6�	 ���	7 	���� ���	�8 ��� 	�� �
����	 ���	 �����	 �� ���� ��� �����	
��
�����
	 ���'�
��	 �� 	�� ����� ����� ������� 	��	 ���	 ���	 �� �������	�� �	
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����� ������
	
��8 ��	 �
��
� ������
	
��� ��� �����	
�� ����� ����� ������	
��8
:��	  �� ���� 	� ��	
��	� ����� ������
	
�� y ��� ��� 	�
� ��	� 	� :�� 	�� ���	�
��� 	��� �������	� ����� �����
	 ���'�
��	� "�� �
	��	
�� 
� L��	 �����
	� �	 ���
��
�	 �������	
����

�
��� 	�� ������ ��� �
��
� ��� ����� ��� �����8 	�� ���� ��������F �������	
��
���������� ��� �� �������

4����	��� 79���ϕ� %���������� ����������	 $��� ϕ/ϕ
,
���B 6T �� p7 ��� 6�
��
� �� �����7 ������
	
�� yI 6��� ��N. ��� �K��7
&��.�� ���B 6p∗ �� T ∗7 ��� 6����� �� �
��
�7 ������
	
�� yII

,����B 6p∗ �� T ∗7 
� ��	
��	�� �
	� ���� �������
�	� 6p �� T 7H ϕI ��� ϕII ���
��	
��	�� �
	� � �� ���� ���� ����
�� ��	����

�� )����	� �����
	 ���'�
��	� 
� 	�� �
��� ����� ϕI
i �

�� ��	 ����	�� n �� n⇐ 0�

� )����	� ���
�
��
�� ��	
��B

Ki ⇐ ϕI
i

ϕII
i

#� )����	� ���
�
��
�� ���� ����	
��� 
� 	�� �	��� �����B

yIIi ⇐ Kiy
I
i

�� ��� �� ���
�
��
�� ���� ����	
��� 
� 	�� �	��� �����B

σ ⇐
∑
i

yIIi

�� 5�����
=� ���
�
��
�� ���� ����	
��� 
� 	�� �	��� �����B

yIIi ⇐ yIIi
σ

%� )����	� �����
	 ���'�
��	� 
� 	�� �	��� ����� ϕII
i �

!� )����	� ���
�
��
�� ��	
��B

Ki ⇐ ϕI
i

ϕII
i

*� $� n = 0 	��� �� 	� �	�� ���
��� 3	����
��B )����	� � ���� �� ���
�	
��8 ��	���� 	�� �������	
�� 
	���0

	
���8 �� �	��� ����� �������	�� ���� ����	
���B

∆ ⇐
∑
i

∣∣yIIi − yeIIi
∣∣

��� $� ∆ 
� ������� 	��	 � �����:��� ����� ���
	
�� ����� δ 	��� �� 	� �	�� �#
6����� 	�� 
���� � ���7�
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��� 3	����
��B �	��� 	�� �������	�� ���� ����	
���B

yeIIi ⇐ yIIi

�
� $�������	 nB
n⇐ n+ 1

��� ��	��� 	� �	�� 
 6
���� � ���7�
�#� $� σ ������ � �� 	� � �����:��� ����� ���
	
�� ����� ε 	��� �����	 	��

��	��� ��	
��	
�� �� 6p �� T 7B p∗ ⇐ p �� T ∗ ⇐ T 8 ��� �	���
��� 3	����
��B 4��
� 6p �� T 78 ��� ��	��� 	� �	�� � 6��	�� � ���7�

��3�# 4����(������ ��
��������	 ����������	


)�����
	
�� �� ���� �� 	�� ������ 
� .����8 	��� ��	
��	
�� �� ���
�
��
�� ��	
��

� ��	 ������ 	� �	��	 	�� �������	
���� <�	 
� ����� ��	
� 
� ���� .���� 	��� 	��
������ ��� �� �������	���

&�	 F 8 V 8 ��� L ����	� ����8 �����8 ��� �
��
� �����	 6�� A�� ��	�78 ������0
	
��� 8 ��� ��	 λ ����	� �
��
� ��	
� λ = L/F H 	��� 	�� ������
�� ��	��
�� ��������

Fzi = V yi + Lxi (i = 1, 2, . . . , c)

���
F = V + L

��� �� ���� 	� ����	���	 � ��	��
�� ������� �(������� �
	� λB

zi = (1− λ)yi + λxi (i = 1, 2, . . . , c)

	��	 
�
zi = (1 − λ)Kixi + λxi (i = 1, 2, . . . , c) 6����7

<�	� ����� ���� ����	
��� ��� �� �(������� ���� ����8 ��
�� ��	
��	�� ���
�
��
��
��	
�� KiB

xi =
zi

λ+ (1− λ)Ki
(i = 1, 2, . . . , c) 6����7

yi =
Kizi

λ+ (1− λ)Ki
(i = 1, 2, . . . , c) 6����7

4��� ����	
��� ������ ��� �� 	� �B∑
i

zi
λ+ (1− λ)Ki

= 1 6���
7

∑
i

Kizi
λ+ (1− λ)Ki

= 1 6���#7

$� Ki ��� �
��� �� ��	
��	�� 	��� � �
��
� ��	
� λ ��	
�� 
�� ��� �� 	�� ����
����	
�� ��� ����
	
��� ��� �� �����
���� ��	���
���� 3�� ��� :�� 	�� ���	 ��
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"���� ���B $�	�����	�	
�� �� ψ(λ) ��:��� 
� 6����7
ψ(0) ψ(1) �K=
�K�����	 ψψ ≡ ψ(0)ψ(1)
< 0 < 0 �
��
� ����� ��
�
�� ��
�	 > 0
< 0 = 0 ��
�
�� ��
�	 �
��
� = 0
< 0 > 0 	�� ������ < 0
= 0 > 0 ��� ��
�	 ����� = 0
> 0 > 0 ��������	�� ����� > 0

�
	��� 6���
7 �� 6���#78 ��� 	�
� ��� �� ����	
	�	�� ���. 	� 6����7 ��� 6����7 	� ��	
	�� ����� ���� ����	
���� 3�� �� 	��� 6��
�� ��� ���� 	� ��	���
�� λ7 ���� �� 	�
�H 	�� �	��� ��� 
� 	� �� ������
=��� ����	
��� 6���
7 �� 6���#7 ��� ��	 ����	��
�

� 0 ≤ λ ≤ 1H 	��	 �� ����� �����
��� �
'���	 � "��	 
� �� ��	� ��� ���� 	�
��	���
�� λB

ψ(λ) ≡
∑
i

yi −
∑
i

xi =
∑
i

(Ki − 1)zi
λ+ (1− λ)Ki

= 0 6����7

5��� �� 	�� ���� ����	
��� ��	�
��� 	�
� �� ��� �� 	� ��
	 H ��	� ��� 	� ��
������
=��H ��	 ����	
�� ψ(λ) ��:��� 
� 6����7 
� �	�
�	� ����	��
� 
� 0 ≤ λ ≤ 1
�������

dψ(λ)

dλ
=
∑
i

(Ki − 1)2zi

[λ+ (1− λ)Ki]
2 > 0 6����7

���� � ���
	
��� "�
� ��.�� ���	 :��
�� ���� ���
���
- ������ ����
	
�� ��� ���
�� 	�� ������8 
��� ���	 �� 6����7 	� ���� ��	���� �

��� � 
� 	��	 ����	
�� ψ(λ) ��� ����	
�� ����� �	 λ = 0 ��� ���
	
�� ����� �	 λ = 18
������� 	�� ����	
�� 
� ����	��
� 
������
��� "�� ����
��� ����� ��� ������	�� 
�
����� ����

3�� �����	 .��� 
� 	�� � �	�� 
� ���
�
��
�� ��� ���� 	��� ��� �����H ���

� ��	 	��� 
� 
	� �	�	� 
� �
��
� �� ������ $� �� ����8 ��� ��	
��	�� ���
�
��
��
��	
�� Ki ��� .���� ������ �����������8 ��� 	��	 �
��	 	��� �� � �	�	� �
>����	
���� 	�� ���� ����

%�������	�
 �. 	����������	�����	� &���

$� 	�
� ���� 	�� �
�	�
��	
�� 
� ��	���
��� � 	������	��� ��� ����� ������
	
��
	���	���H ��	����
�� ��� �� �������	�� ��	�������� 6$� ���	 �	�	� �� 	�� ���� 
�
.���� 	��� � �������� ���	
�� �� ����
�� ����� ������ 	� ����� 	�� ����
:��
	������	��� ��� �������� ��� �� �������	���7

4����	��� ?)���� 
������������������ &��� $��� ϕ/ϕ �� ϕ/γ
,
���B T 8 p8 ��� z
&��.�� ���B λ8 x ���D�� y8 ��� K 
� ���� �� �
�	�
��	
��
,����B K
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�� 
���������	 ��	� 6
�	����	
�� ������	��� 
� 	�� 
��� 	������	��� ��������	8 ��� ����� ���������7�

�� )����	� ψ(0) ��� ψ(1)8 �� ���� �� ψψ ⇐ ψ(0)ψ(1)�

� $� ψψ ≥ 0 	��� 	���� 
� ��� � �
���� �����8 �	���

3	����
��B "���� 
� � ���	 �� 6����7 
� 	�� ������ ����
� 6	���� �� ��
	�� ������7�

#� ���� 	�� ����
�� 6���	7 ��	
��	
�� �� KB

Kei ⇐ Ki

�� �
�� 	�� ���	 λ �� 6����7 ��	���� � ��� ��
�� )����	� ���� ���	
��� 
� ��	� ������ �
	� 6���
7 ��� 6���#7�
%� 5�����
=� 	�� ���� ����	
��� 
� ��	� �������
!� )����	� ����� ������	
�� �
	� 	�� ������
=�� ���� ����	
���� 6$� ����

�� ����	
�� �� �	�	�B �
(�� ������	���8 ������ ���	�8 ���	 �����	
��8 ���
:���� ���	
�� �����
	 ���'�
��	�� $� ���� �� �(���� �����B ��	
�
	 ����0
:�
��	�8 ��� ������	
��� 
� �����7

*� ���� ��	� ��	�
��� 
� �	�� !8 ��� ������
�� �� ���	��� ϕ/ϕ �� ϕ/γ 
�
����
��8 �����	� 	�� �
>������B

σ ⇐
∣∣∣∣yIi ϕI

i − yIIi ϕ
II
i

yIIi ϕ
II
i

∣∣∣∣
��

σ ⇐
∣∣∣∣∣−p+

∑
i

γixiϕ
◦,L
i p◦iP

yiϕV
i

∣∣∣∣∣
�� � �
���
:�� ������
���

��� $� σ 
� ������� 	��� � �����:��� ����� ����� ε 	��� 	���� ��� 	�� ������
�
	� �����	�� ��	� x8 y8 ��� λ8 �	���

��� 3	����
��B ���� ��	� ��	�
��� 
� �	�� !8 ��� ������
�� �� ���	��� ϕ/ϕ
�� ϕ/γ 
� ����
��8 ��0�����	� ���
�
��
�� ��	
�� Ki�

��� )����	� ψ(0) ��� ψ(1)8 �� ���� �� ψψ ⇐ ψ(0)ψ(1)�
�
� $� ψψ ≥ 0 	��� 	���� 
� ��� � �
���� �����8 �	���
�#� 3	����
��B "���� 
� � ���	 �� 6����7 
� 	�� ������ ����
� 6	���� �� ��

	�� ������7� )����	� 	�� ���� �� �
>������ ��	���� 	�� ��� ��� 	��
����
�� ���
�
��
�� ��	
� ��	
��	��B

∆ ⇐
∑
i

|Kei −Ki|

��� $� ∆ 
� ������� 	��� � �����:��� ����� ����� δ 	��� 	���� ��� 	�� ������
�
	� �����	�� ��	� x8 y8 ��� λ ��	����� ����
�
�� ����
:�� � ε 
� ��	
�������8 �	���

��� 3	����
��B 1�	��� 	� �	�� #�
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	����	� &���

$�	�
� ���� 	�� ���
�
��
�� �	�	� 
� ��	���
��� � 	�� ��	���� ��������
"�� �
�����	 ��	��� 
� ������
�� 	�� 
��	������0
�����
� A��� �������	
�� 
�

� � ��� �
	� ��.���� ���
���� T B

4����	��� ?)��C����
� 
���������
������� &��� $��� ����

�
 �����
,
���B p8 J 8 ��� z
&��.�� ���B λ8 T 8 x ���D�� y8 ��� K 
� ���� �� �
�	�
��	
��
,����B K N� T

�� �(���	� 4����	��� ?)����
�� )����	� H ���D�� h �	 	�� �������	�� ������
	
����

� )����	� 	�� ����� �� 	�� ��	���� �������B

σ ⇐ |λh+ (1− λ)H − J |
#� $� ����� σ 
� ������� 	��� � �����:��� �
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ζ (λ, T ) ≡ λh+ (1− λ)H − J = 0 6���%�7
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�� ���
��	
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=��7 ����� ���� ����	
���B
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��� 5�����
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∆EV
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RT 2
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∆y ≡ y∗i − yi ≈ 0
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"�� 	��. 
� :��
�� ������ �� ���
����� 
� ����	
��� 	��	 ��	
�� 	�� ����	
���� ���
�(�����8 � �0���
���� � �	�� 
�B

sin(x+ 2y)/x2 = −28.3

x2 + cos(y) = 3.5xy

@� �� 	��	 x ��� y 	���	��� ����	
	�	� � ����	
�� �� 	�� � �	�� 
� ��	� ����	
���
��� ��	
�:�� �
	� 	���� $�	������ 	�� ��� ���
�����8 f ��� g8 ����	
��� �� x ���
yB

f(x, y) = sin(x+ 2y)/x2 + 28.3

g(x, y) = x2 − 3.5xy + cos(y)

/����� �� ����	
��� f(x, y) ��� g(x, y) ��� �������� ��	 =���� x∗ ��� y∗ 	���	���
��� ������ 	����
�� �� 	�� ����	
�� � �	�� 
�

f(x∗, y∗) = 0

g(x∗, y∗) = 0

��� ��	
�:��� $� 	��	 ����8 ���� [x∗8 y∗] 
� ���� ������ 0� � �& �
� �	.	��� �&�
�,���
��	� 5�	 ��� ����	
��� ���� =���8 ��� �� ����	
�� �� ���� ������� =������
,
��� x ��� y8 	�� ������ f(x, y) ��� g(x, y) ��� ������  �	
���	 �� 	���� ����	
����
x∗ ��� y∗ 	���	��� ����	
	�	� � ����	
�� �� 	�� ����	
�� 6� �	��7 
� 	�� ���
����
f(x, y) ��� g(x, y) ��� =������ "���8 =����� �� 	�� ����	
�� ��� ���� ������ =����� ��
	�� ����	
�� 6��
�7 Zf(x, y)8g(x, y)[�

��#
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,������ ���� �� �� ����	
�� 6� �	��7 
�B

f1(x1, x2, . . . xn) = 0

f2(x1, x2, . . . xn) = 0

���

fm(x1, x2, . . . xn) = 0

2��� ���� ���
���� f1, f2, . . . fm 6��	���	��� � ��������� '� 
�(��	7 �� 8 
� ��
��
0
���8 ������ �� ��� ���
����� x1, x2, . . . xn 6��	���	��� n 
���������� '� 
�(��	7�

����	
��� � ����� ��	�	
�� 
� ����
��8 ��
�� ���� � 6���	���7 �� x ��� f B

f (x) = 0

E� ��	 �& �� �,���
�� � � ����.	 ���2�� &� 
�	
�� � �
'�� ����
�8 ���� 
� �� 
�	��0
���8 
� ���� �� � �
���� ���
����� ,������� �� ����
� 
� �������8 ���� 	�� �����
������ $� �	����
�� ��	 ��
�8 �������8 �� ���� � ������ ���	
����� 
���������	
���
�����8 ��� 	��
� ���	
����� ����
��

"�� ����	
�� �� ���� � ����	
�� 
� m < n8 m = n8 �� m > n�
�(����� �� n = 18 m = 2B

f(x, y) = 3x(y − 4)

-	 ������ Ix8 yJ Q I08 4JB f = 08 ����� 	�� ��
� I08 4J 
� � =��� �� ����	
�� f(x, y) = 0�
�(����� �� n = 28 m = 1B

f(x) = 3(x+ 2)

g(x) = 1 + x/2

<�	� f(x) = 0 ��� g(x) = 0 �	 x = −28 	��� −2 
� � =��� �� 	�� � �	�� Zf(x) = 08
g(x) = 0[�

��	� m = n 
	 �
� ��	� 
��� ���� 
� ���
��� 
�� � ���
��� - ��
�	 
� 	��
n0�
����
�� ����� �� 	�� 
���������	 ���
����� ��� �� ���
���� � n 
���������	
����	
���� ��� �(�����8 � ����	� ����� 
� 	�� 6x8 y7 ���
� 6n = 27 
� �����
���
� � 	��0���
�	� f(x, y) = 0 ����	
�� 6	��	 �
��	 �� 	���������� 	� 	�� ���� ��
y = f∗(x)7� -��	��� ����� ��� �� �����
��� � ����	
�� g(x, y) = 0� $� 	�� 	��
������ 
�	�����	 	��� 	�� 
�	�����	
�� ��
�	 
� � =��� �� 	�� � �	�� Zf(x, y) = 08
g(x, y) = 0 [�

3�� �� 	�� ����	
�� ������� 6���� ������ �8 ��� ��	 ����
� f(x, y) = 0 ��� 78
	�� � �	�� ��� 
�	
�
	� ��� ����	
��� 6��� 	�� ��
�	� �� 	�� �����7�

$�8 �� 	�� �	��� ����8 	�� � �	�� 
� ���������	�� �
	� � ������� ������ 	�
��
����	
��8 �� h(x, y) = 08 �� 	��	 m > n8 	��� 	�� � �	�� �� 	���� ����	
��� ���
��
� =��� 
� ��	 �(������ ��	 
	� ������ 
� ��� ���� @� ����� ����� h(x, y) = 0
�� 	������ 	�� =��� �� Zf(x, y) = 08 g(x, y) = 0[O $	 
� ����
��� 	� :�� ���� �
�����8 ��	 
	 ����� �� ��������	 ���
�� f(x, y) = 0 ��� g(x, y) = 0� ���� 
� ���
	���� ����	
��� ���� 	� 	�� ���� ���� ��������
�� �� ��
��	
:� �������8 ��� ����
��
		��8 �� ����� ����������	 ����� �� �����
��� ����� ��� 	� 
���
	���� �����
��



���� �,���
�� 	��'
�� ���

���

���

��!

��!

���

���

��#

��#

���

���

0���

�
�

��!�����#��� ��� ���

f

x

�
���� 
��B <
���	
��

�	 ���	
��
��	
�� �� �
�
�
�� ��� ����� 	��� ����
�� � ������ =���8 ���� 
� �� 
	�� �� 	��� ����� ����� �� �
	� � ���� �����(
��	
�� �� 	�� ������ ����	
���

2��� �� �
����� ���� 
��� 	����
�� �� ���0�
���� ����	
��� ��� ����	
�� � �	���

� ���� m = n� @� ������  �� ��� ���
�
�� �
	� 	�� ��	���� �� ����
�� �
����
����	
����

����� 6�
�����	

"�
� 
� � ��	��� ����
����� 	� ��
���
�	� ��� ����	��
� ����	
��� ��� �
��� �(�����8 f(x) = 1/(3−x)−0.5 
� � �	�
�	� ����	��
�� 
������
�� ����	
���

@� � ���.
�� ��� 
	� =��� 
� 	�� ������ 
�	����� [0.2, 2.2] 6�	�� ���7� �(��	 ����� ��
	�� =��� 
� ��� � "�� ����	
�� ����� �	 	�� ���	 ���� �
�� ���0��
�	 �� 	�� 
�	����� 
�
����	
�� 6�����(
��	�� 0���#�!�%�#
78 ��� 
� ���
	
�� 6�(��	� ��%�7 �	 	�� �
��	
���� �
�� ���0��
�	 �� 	�� 
�	������ @� �����	� 	�� �
���� ��
�	B x = (0.2 +
2.2)/2 = 1.2 8 ��� ������	� 	�� ����	
�� ���� �� ����� "�� �����	�� ����� 
�
����������� � � 8 ���
	
��� �
��� 	�� ����	
�� 
� �	�
�	� 
������
��8 
	 
� ����� 	��	 	��
=��� �����	 �� ����� 	� 	�� �
��	 �� 	�� �
���� ��
�	8 	�������� 	�� �
��	 ���� �
��
���0��
�	 �� 	�� 
�	����� ��� �� ��
�	�� ���	 	� 	�� ������	 �
���
�	� ���� ��� 	��
=��� 
� ���.�� ��� 
� 	�� ������ 
�	����� [0.2, 1.2]� $	� �
���
�	 
� (0.2+1.2)/2 = 0.7H
���� 	�� ����	
�� ����� 
� ����	
��8 ����� 	�� �
���
�	 ������� � ���	 ���� �
��
���0��
�	8 ��� �� ���

$� �������8 :��	 �� ���� ������� ����.�	
�� 	�� ����	
��� 3��� 
	 
� ����8 ��
������� 	�� �
��� �� 	�� ����	
�� ������ �������	�� 
� 	�� 	�� ���0��
�	� ��� 
� 	��
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"�
� 
� ��� �
���� ������ �� 	�� ���� ������� ���
� �� ����
� �(����
��
��	����8 	�� ��� ������ �� 	��� 	��	 
� ��� 	� �����
=� ��� �������� -�� 	��
�	���� ��� ���� ���� ������
���

"�
� �
���� ��	��� ���.� ��� �
���� ���
����� ��� 8 ��� 
	 �
�
��� 	�� ����	�
�� 	�� 
�	����� � � 
� ���� �	��H 	��� 	�� ������ ����
� ���
�.� 	� 2−n 	
��� 
	�
��
�
��� 
� n �	����

����� �����

��� �����!������	 ������


"���� ��	���� 	� 	� �����(
��	� 	�� ����	
�� x∗ � �������
��� �����(
��	
�� 
	
�
	� ������	
�� � ��
�	 ���
�� x(0)8 x(1)8 x(k−1)8 x(k)8 x(k+1)8 � � � 9�
�	 x(0) 
� 	��

�
�
�� �	�
���� �� 	�� ����	
�� ���8 �������� 8 ���� x(k) ��
�	 
� 
	� k0	� ��	
��	��
4�	���� �� �������
�� �����(
��	
��� ����
�� ���� ��������� ��� ������	
�� ���
�����(
��	
��� ���� ����
�� ����� "�� �
����� ��	���� �	
�
=� L��	 	�� ��	���
k − 10	� �����(
��	
�� ��� ������	
�� 	�� k0	� ���B

x(k) = g(x(k−1)) 6
��7

3	��� ��	���� �� �	
�
=� ������� ����
�� �����(
��	
���B

x(k) = g(x(k−1),x(k−2),x(k−3), . . . ) 6
��7

"�� ��	���� �
>�� 
� 	���� ���������� 6
��7 ��� 6
��7 ��� �
-� ����	
�� f(x) = 0 ��� �� 	���������� 	� 	�� ���� x = g(x)� $� �� �	���


��� �������  ��� �
��8  �� ��� ���� 	���������	
�� g(x) ≡ f(x) + x8 ��	 	����
��� � ��	 �� ����
�
�
	
��� -�	�� ���� � 	���������	
��8 ���� 6
��7 ��� �� ����
���

-� ��������� ��� �� ���� 	� ������	� � ��� �����(
��	
��� "�� ������ �� 
�
�����(
��	
�� 	�� ����	
�� �
	� � �
����� ��� �
	� ��� �� ������ ���� 	
���� � ����
� ����	
�� 
�8 ���� � ������ ����� ���
���
��� "�� ������	��� �� 	�� �����(
��	
��
����	
��� ��� :		�� 	� 	�� .���� ��
�	� ��� 	��
� ����	
�� ������8 ��� 	��� 	��
=��� 
� �������	��H "�
� =��� 
� 	�.�� �� 	�� ��� �����(
��	
���

$� 	�
� ���	
�� ��� �
���� �����(
��	
�� ��� �
�������8 
��� ��� 	�� ��	����
�
������� ���� ��� ��0������ 	����		
'� �
��� 
0��
�� ��	�����

%�
(����
�� �

 
���	
�

�������
�� �����(
��	
�� 
� ���������� 
� 	�� ������	�� ���
�� x(0)8 x(1)8 x(k−1)8
x(k)8 x(k+1)8 � � � ��������� 	� � =��� x∗� $	 
� ���������� 
� ����	
�� 
�8 �	��	�� ����
�� 
�
	
�� ��	
��	� x(0)8 ��������� 	� 	�� �������� =��� ��� ���	 �������

)���������� �������� ��� ���	 �
����
=�� 
� ��
���
�	� ����8 ���� 
�� ����
6
��7� &�	 y = g(x)8 ��� ���	 y = g(x) 
� � �
��	 ����� y−x � �	��� -	 x0�� �����
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g(x)

x

y

�
���� 
��B g(x) = x+ sin(πx)/4
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f(x) = 08 x = g(x) 
� ���� ��	
�:��8 ��� 	�� ����� y = g(x) ������� 	�� �	��
��	 �
��
y = x�

������8 ��� �(�����8 =����� �� sin(πx) = 0 
� 	�� 
�	����� x ∈ [−0.5, 2.5]� 6"��
=����� ��� x = 08 x = 18 ��� x = 2�7 $� 	�
� ���� f(x) = sin(πx)8 ��� ��	 �� ������8
��� �(�����8 g(x) = x + sin(πx)/4� ����	
�� g(x)8 	�� �	��
��	 �
�� y = x8 ���
�������
�� ��	
��	
��� �
	� 	�� �
>����	 
�
	
�� ��	
��	��8 ����� x0 = 0.25 ���
x0 = 1.728 ��� ����� 
� �	�� ���� <�	� ���
�� ��������� 	� =��� x = 1� ;�����
x = 0 ��� x = 2 �����	 �� ����������8 	�� ���
�� ������
�� 	� 6
��7 ��� � ��
��
��� ���� 	��
� ��
����������� ;��� x = 1 
� ������ � �	���� =���8 ������� =�����
x = 0 ��� x = 2 ��� ���	���� �
	� 6
��7� �	��
�
	 ������� �� 	�� ����� �� g(x) 
�
	�� ��
��������� �� 	�� =����

���

���

��!

��!

���

���

��#

��#

���

���

�
�

��!

��!

���

���

��#

��#

���

���

���

���

���

���

g

x

�
���� 
�
B g(x) = 3.5x− 1.5x2

- ���� ������( �
	��	
�� 
� ����� 
� 6�	�� ���7 �
	� g(x) = 3.5x−1.5x2� �	��	
	�� ������ �� �����8  �� �����	 ����� ���� 	�� =��� x∗ = 1.6666 . . . ������ �	��	
�(��	� 	����� "���� 
� � ������ �� ���
���	
�� ��
�	� x = 1 ��� x = 2B g(1) = 2 ���



���� �,���
�� 	��'
�� ���

g(2) = 1� �	��	 	�� �������	
�� ���� x = 0.88 	��� 	�� ���
�� ���
�� F����������F 	�0
���� ��� ���
���	
�� � �	�� �� ���� ��
�	�B I����!%�*!�#8 ���#�����!�8 ��!*
�#�*�%8
��*�*��!
��J� 3�� ��� ����	���	 g(x) ����	
��� ������
�� ���
���	
�� ���
�� �
	�
	��8 	����8 ����8 :��8 �	�� ��
�	�8 �� 	� �������	� �� ��
� ��	 �
�������� ���
���

"���� ����
����	
��� ��� ���
� 	� �� �������
�� �����(
��	
�� ��	��� ����

� 
	 
� ��	 	���������	 �	 ����� ���� 
� ���� ��� �� 	�� ����� 6
��7 
� �
���	� 
����
�� ��	 ���
���� �� f(x) 	�.�� �	 ����
�� �����(
��	
��� x(k−1)8 x(k−2)8 �	��
	�.� ����� 
� 	�� ���� �� �������	
�� � ��� �����(
��	
�� x(k)8 	�� �
��	 ���� �
��
�� x(k) = . . . 
� 	�� ��	��� ����	
�� g(x(k−1), x(k−2), . . . )�

$� ���� �� ���	
���
�	� ����	
��� 6
��� ���	
���
�	� ����	
�� � �	���78 �� ���0
�����	F� �����
��� ��� �� ����
����� �� � �
���� ���
���� ������ ������
�� �� 	��
��	��� ���� �� ����	
�� x(k) = g(x(k−1)) �� x(k) = g(x(k−1),x(k−2),x(k−3), . . . )8
��� �� 	�� 
�
	
�� ��	
��	�8 	�� ������	�� ���
�� ��� �� ���������	 �� ��	8 ���

� ���������	 	��� �
	��� 	� 	�� �������� ����	
�� �� ��	� �� ��
���� ����
����(	
�A ���
�.������A �������	(� �����5	���	
� �����
 �5	���� 4
 ���
�����	��� ������ �����
 �������� �	�� �
 	
	�	�� ���	����� ��� �� ��
.��

 �� ���� ������� �5���	��
������

$� 	�� �����	�� ��	��� ���� ��	 ��������8 �� 
� 	�� ����8 �� ���
���	��8 	���
����
�� 
� � ����� �� 	� 	� ����
�� 
	 �
	� ���
� 
�� 	�� ��	��� ���� ��
x(k) = g(x(k−1)) �� x(k) = g(x(k−1),x(k−2),x(k−3), . . . )� &�	

x(k) = αx(k−1) + (1− α)g(x(k−1),x(k−2),x(k−3), . . . ) 6
�
7

2��� α 
� � ��0������ ����
�� &���� � $� α = 0 	��� 	�� ��
�
��� ��	��� 
� �����	��
�
	���	 ����
��H 
� α = 1 	��� 	�� ���	 �����(
��	
�� 
� �����	��8 	�� ����
��

� �� ���G� $� 0 < α < 1 	��� 	�� ��� �����(
��	
�� 
� ��������� 
� 	�� �	��
��	
�
�� ���	
�� ��	���� 	�� ���	 x(k−1) ��� 	��	 ������	�� � g(...)�

#���
� �����


"�
� 
� ���
� � ��	��� ��� � �
���� ���
���� ��� 8 ��� � .
�� �� �������
�� �
����
=�0
	
��� "�� ��	��� ����	
�� f(x) 
� �����(
��	��8 
� ���� 
	���	
�� �	��8 � � �
����
���8 h(x) = ax + b8 :		�� 	� 	�� ��
�	�� "��� 	�� ����	
�� �� h(x) = 0 
� 	�� ���
�����(
��	
���

)���
��� 	�� ����
�� �����(
��	
��� x(k−1) ��� x(k−2)8 	���	��� �
	� 	��
� ��0
����	
�� ����	
�� ������ 6���
����7 f (k−1) ≡ f(x(k−1)) ��� f (k−2) ≡ f(x(k−2)) H
	���� ��	� ���
�� 	�� ��
�	� 
� 	�� f−x ���
�B (x(k−1), f (k−1)) ��� (x(k−2), f (k−2))�
�
	 � �	��
��	 �
�� h(x) = ax+ b 	� 	���� 	�� ��
�	�B

f (k−1) = ax(k−1) + b

f (k−2) = ax(k−2) + b

���	���	 	�� ����	
���B f (k−1) − f (k−2) = a(x(k−1) − x(k−2))8 �����

a =
f (k−1) − f (k−2)

x(k−1) − x(k−2)



���� �,���
�� 	��'
�� ���

"���� 
��B �����	 ��	����8 :��	 �(�����
k x(k) f (k)

� ��� 0���#�!�%�#

� ��� ��%�
� ���� 0���*�%%#�*#

 ��%�� 0�����*
%��

# ����*�� ����%!*!�%�
� ��**��#�%� 0�����#%�**!
� ��***������ −8.6 ∗ 10−5

% ��������%�� 4.3 ∗ 10−7

! � −7.4 ∗ 10−11

b = f (k−1) − ax(k−1)

;��� �� h(x) = ax+ b = 0 
� x = −b/a8 	���B

x(k) = x(k−1) − 1

f (k−1) − f (k−2)

x(k−1) − x(k−2)

f (k−1)

"�
� ���� �(������� 	�� 
���� 
��������	�� 
� 	�� ��	��� ��	 ������ � ����

������	
�� ��	 �
����� ���� 6��	�
�� � � �
		�� �������7 
� ����B

x(k) =
f (k−1)x(k−2) − f (k−2)x(k−1)

f (k−1) − f (k−2)

$	 
� 	���������	 	��	 	�� 
�
	
�� ��	
��	�� ��� ������ 	� �	��	 	�� 
	���	
���
)���
���8 ��� �(�����8 ����	
�� f(x) = 1/(3− x)− 0.5�
&�	 	�� 	�� 
�
	
�� ��	
��	�� :��	 �� x(0) = 0.2 ��� x(1) = 2.2 � "�� �����	
��

���
���� ��� f (0) = −0.142857143 ��� f (1) = 0.75 � "�� �	��
��	 �
�� :		�� 	� 	����
��
�	� 
�	�����	 	�� x x(2) = 0.52 8 	�
� 
� 	�� ��� �����(
��	
�� 6�	�� ���7� "��
���
�� �� �����(
��	
�� ��	�
��� 	�
� �� 
� ����� 
� ����� ���� &�	 ��� 	�� 	��

�
	
�� ��	
��	�� �� x(0) = 2.2 ��� x(1) = 1.6 � "��� 	�� ���
�� �� �����(
��	
���

� ����� 
� ����� ���8 
����	��	�� 
� �	�� ��'�

- ����
�� �� �����	 ��	��� 
�  ����� &��	
 �� ����(��� &��	� ��	
�
����	���� "�
�
���� ��	 ���� ���� � 	�� ���	 	�� �����(
��	
��� ��	 ��
�	�
� 	�� �����(
��	
���
�� 	��	 	�� ����.�	 	�� ����	
��8 L��	 �
.� 
� 	�� �
���	
�� ��	����

2���	(��	��� ����
� �����


��� N ����	
��� ��� ���
�����8 ���
���� �� N +1 �
>����	 ��
�	� ��� �� �������	���
2��� �� ����� �
.� 	� ��� ��
�	� x(0)8 x(1)8 � � � 8 x(N) ��� ���
���� f (0)8 f (1)8 � � � 8
f (N) 	� ������	� � ��� �����(
��	
�� x(N+1)� @� ������� 	��	 �����(
��	
���
x(0)8 x(1)8 � � � 8 x(N) ���� 	�� N 0�
����
�� �
���� ����� 6	�� �
�� �
�� 	� � �
����(78
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�
���� 
�#B �����	 ��	����8 :��	 �(�����

���

���
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��#
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�
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x

�
���� 
��B �����	 ��	����8 ������ �(�����
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�� ��


"���� 
��B �����	 ��	����8 ������ �(�����
k x(k) f (k)

� ��� ��%�
� ��� ����#�!�%�#
� ��
� ����*%���*!

 ����! ����!�#����
# ����*## ����#*�%%�

� ������#*%� ���������%!
� ����������# 2.551 ∗ 10−6

% ����������� 1.34 ∗ 10−9

�� 	��	 �� N 0�
����
�� � ������
� ��� �� :		�� 	� 	�� N + 1 ��
�	� 6x(0)8f (0)78

6x(1)8f (1)78 � � � 8 6x(N)8f (N)7 
� 	�� ���� �� h(x) = Ax+ bB

h0(x0, x1, . . . xN ) =
N∑
i=0

a0,ixi + b0

h1(x0, x1, . . . xN ) =

N∑
i=0

a1,ixi + b1

���

hN(x0, x1, . . . xN ) =

N∑
i=0

aN,ixi + bN

"�� � ������
� ������ 
�	�����	 ��� N + 1 ��
�	�8 	��������

f (0) = Ax(0) + b

f (1) = Ax(1) + b

���

f (N) = Ax(N) + b

6��������
�	� ����	� �����(
��	
���8 
���(�� ����	�� ����� ��������	��7
���	���	 ���� ��
�����
�� ����	
��� 	� ��	�
� N ��	��
�� ����	
��� ����� b 
�

������ ���������� ����	� �
>������� f (k) −f (k−1) � ∆f (k)8 ��� x(k) −x(k−1) � 
∆x(k)8 	� ��	�
�B

∆f (1) = A∆x(1)

∆f (2) = A∆x(2)

��� 6
�#7

∆f (N) = A∆x(N)



���� �,���
�� 	��'
�� ��#

)���
�� ������ ���	��� ∆f (k) 6k = 1, 2, . . .N7 	� ��	�
� �� N ∗N ��	�
( F8
��� ����
�� ������	
��� ������ ��	��� ∆x(k) 	� ��	�
� ��	�
( X� $� 	�
� �� 
����	
�� � �	�� 6
�#7 ��� �� ����
����� �� ��	�
( ����	
��

F = AX

���� 	�
� ��	�
( ����	
��8 4 ��� ������� �� �(������� �� A = F−1X8 ���
���� ����	
�� f (N) = Ax(N) + b8 ������� b = f (N) − Ax(N)� < ����	
	�	
��
	���� 
�	� h(x(N+1)) = Ax(N+1) + b = 08 � ��� �����(
��	
�� ��� �� �(�������B

x(N+1) = x(N) −A−1f (N) = x(N) −XF−1f (N)

2������8 �����	
�� 	�� 
������ F−1 
� ��	 ������� $��	���8 ��	

x(N+1) = x(N) +∆(N)

����� ∆(N) 
� ��	�
��� � ����
�� 	�� �
���� ����	
�� � �	��

F∆(N) = −Xf (N)

=�����	
 �����


"� �	��	 ���	
���
�	� �����	 
	���	
��8 N + 1 
�
	
�� ��	
��	�� ��� ������8 ��� �
�
���� ����	
�� � �	�� 
� 	� �� ������ 
� ���� �	��� B��	��
� ������	��8 
��	���8
	� ���� �
���� ���
�	� �����	 �������� ��� ���	
���
�	� ����8 	��B

x
(k)
i =

f
(k−1)
i x

(k−2)
i − f

(k−2)
i x

(k−1)
i

f
(k−1)
i − f

(k−2)
i

, (i = 1, 2, . . .N)

"�
� ����� �����
�� ���
����� �
	� ����	
���8 ��� ������	
�� �>��	� �� �	��� ���
0
����� ���� ����	
�� 	����

�����
 �����


$� 	�� ����	
�� 
� �
>����	
���� 	��� �
����
=�	
�� ��� �� ����� �� � �
���� ��
�	

��	��� �� 	��8 �� N + 1� $� 	�� �����(
��	
�� x(k−1)8 ��	 	�� ���
��� ��� 	��

���
��	
�� ��8 ������	��� 8 f (k−1) ���

(
df(x)

dx

)(k−1)

= f ′ (k−1)8 	��� 	�� ����	
��

������� 
�

x(k) = x(k−1) − f (k−1)

f ′ (k−1)

����	
�� �� 	�� ������� ������	�� �	 �����	 ��	���8 �
	� 
�
	
�� ��	
��	� x0 =
2.28 
� ����� 
� �	�� ��+ ��� ����� ����

������ ��	��� 
� � �
�
	 �� �����	 ��	���� $	 ��� �� ��	�
�� � ��������
��
	�� 	�� 
�
	
�� ��	
��	�� 	� ���� �	���� $� 	�� ����	
�� �����	 �� ���� 	
���� 
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"���� 
�
B 5��	�� ��	���
k x(k) f (k)

� ��� ��%�
� ��%� ���!���
� ����*� ���%###!��*

 ���

�*�
� ����!�#��#�
# �������#��� ������#��*�
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���� �,���
�� 	��'
�� ���

�
>����	
�	��8 ��� �(����� ��	 �
��� 
� �(��
	
�� ����8 �� 
� 
	� �����	�	
�� 
�
�
'���	8 	��� 	�� ���
��	
�� ��� �� �����(
��	�� �����
���� B

df

dx
≈ f(x+ δx)− f(x)

δx

$� 	�
� ���� 	�� ������ ��	��� ��
��
��� �
	� �����	 ��	��� �
	� 	�� ����	
	�	
��
�� x(k−2) = x(k−1) + δx�

$������ �� 	�� ��	�
( $���(��8 ���	�
�
�� ���	
�� ���
��	
���8 	�.�� ����� 
� 	��
������� 
� 	�� ����	(��	��� ����B

J ≡

⎡
⎢⎢⎢⎢⎣
∂f1
∂x1

. . .
∂f1
∂xN

���
���

���
∂fN
∂x1

. . .
∂fN
∂xN

⎤
⎥⎥⎥⎥⎦

x(N+1) = x(N) − J−1f (N)

5� ����8 ���
�8 ��� �����	
�� 
������ �� J−1 ��	 �
��� ���� 

x(N+1) = x(N) +∆(N)

����� ∆(N) 
� ����	
�� �� 	�� �
���� ����	
�� � �	��

J∆(N) = −f (N)

@��� ���� 
�� �����
��� �
>����	
�	
��8 ���	
���
�	���������	��� ��
��
���
�
	� ���	
���
�	� �����	 ��	����

7��	� .������� �. �	
���	*	
� �����
� �. �������	(� �����5	���	�


"�� ���
�� �� �����(
��	
��� ������	�� � ������ ��	��� �������� 	� 	�� =��� 
�
����	
�� f(x) �� f(x) ��� 
	� ���
��	
��� ��� ����	��
�� ���� 	�� =���8 ��� 	��

�
	
�� ��	
��	� 
� ���� 	�� =���� "�
� 
� ���� 
����	��	�� 
� �	�� ��+ ��� �����
���� �F��F*���

$�8 �������8 	�� ����	
�� 
� ��	 ����	��
� �� 	�� 
�
	
�� ��	
��	� 
� ���� 	���
	�� ���
�� �� �����(
��	
��� �� �
����� ��� ���� 	�� =���� ���� � ���� 
� �����

� �	�� ��,8 ����� 	�� =��� 
� x∗ = 0.1 � $� x(k−1) < 0.4 	��� ������ ��	��� ���.�
����� $� x(k−1) > 0.6 	��� 	�� ����	�� �����(
��	
�� 
� ���	��� ���� 	�� =���� "��
:���� ����� x(k−1) = 1 �
	� x(k) ≈ 1.346 � $� x(k−1) ≈ 0.55 	��� x(k) �����	 ��
�����	�� ������� f ′ ≈ 0� $� ���	
���
�	� ���� � �
�
��� �
	��	
�� 
� �
������� � �
6����7 �
������ $���(
���
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x

�
���� 
�%B ��
����� �
	� ������ ��	���

����" ���	
��������	 �� ��	���7����	 �������

-� =��� :��
�� ������� fi(x1, x2, . . . xN ) = 0 6i = 1, 2, . . .N7 ��� �� 	����������
	� �
�
�
=�	
�� �������B

min
{x1,x2...xN}

N∑
i=1

f2
i (x1, x2, . . . xN ) 6
��7

$� 	�
� ���� 	�� ��L��	
�� 
� ����� ����	
��8 �� �
��� 	�� ��L��	
��F� ����� 
� � �	�
	�� =��� �� 	�� ����	
��8 	�� =��� 
� 	�� �
�
��� ��
�	�

$� ����	
��8 �������8 ����	
��� ��� ������� ����� �
�
��8 ��� 	�� ����	
�� �����
�� ���	 �� 	��� 
� ��	 �� -� �� �(�����8 � ��
���
�	� ����	
�� ��� 
	� ������ ���
���		�� 
� 
� �	�� ���� ����	
�� f(x) ��� � =��� �	 x ≈ 0.08H ����	
�� f2(x) ���
����� �
�
�� �	 x ≈ 0.08 ��� x ≈ 1.218 ��� 	�� ��		�� 
� ��	 � =��� �� f(x)� 4�� 
����� �
�
�� ��� ����� 
� ���	
���
�	� ����	
����

-��� 
�� 	�� ����� ��	���� �� �
�
��� ������8 ��� ��� �� 	�� ����� �
�
��8
������
�� 	� 	�� ��	��� 
�
	
�� ��	
��	�8 
� ������ "��	 
� �� 	�
� ��	��� 
� ��	
������	��� Y��	 	�� ���	��� B ������ ��� ����� �
�
�� ��� �������	�� �� ������ ���
=������ ��� �(�����8 ���	
���
�	� ������ ��	��� ��� ��
�
���� ������	�� �� �
���	 �� �
�
�
=
�� ���	
���
�	� ���0�
���� ����	
���B ����	
��� ��� ��	�
��� ��
�����
�� ���	
�� ���
��	
��� �
	� �8 ��� �� ����	
�� �� ���� ����	
�� 
� � �����
�
�
�
=�� �� 	�� ��
�
��� ����	
��� "�
� 
� 	�� ����������
	�� ��	��� ��� :��
��
����� �
�
���
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x

�
���� 
�!B ;����� ��� �
�
��

��
 )�����	�� +		
��

"�� ������� 
�8 
� ��	����	
��� �����8 :		
�� � ���	
����� ���
���� 	� ���� 6�	
����	 	��8 ��	 ��� �� ��� 7 ��
�	� �� �� N 0�
����
�� ������

�
�����	 �������	
�� 
� 	�� ������
��� )���
��� �� N − 1 �
����
�� ���� ��0
��
���� ����� ����� ��������	� �����
�� ���� ������	
�� �� � �� �
��� ��L��	� ����
������	
�� ��� ��8 ��� �(�����8 ����	�8 �
�	�8 	������	���8 ��������8 �	��8 	���	���
����
�� � ������	 ���� x� @� ��� �
��� � ���
�� �� ���� ������	 ���� �8 x18
x28 � � �xn8 ��	���	��� n ��
�	� 
� 	�� N − 1 �
����
�� ������ "� ���� �� 	����
��
�	� �� �	���8 ��
�
���� ��.����8 ������	 y 
� ��	���
��� � ����������	B
y18 y28 � � � yn� ��� �(�����8 �� ������� 
�	���
	 �� ���	 ���
�	
��� "�
� 
� ��
N 0	� ������	 � ���� �� N − 10���
�	� ���� ����	
�� f(x) 
� ���.�� ��� 	��	 :	�
	� 	�
� ��	 �� n ��
�	�� B� �� ���. 2��� �
� &� � �& f 8 ��� 
	 ���	�
�� ����
��.���� ������	��� p18 p28 � � � pmH 	��� 	�� 	��. 
� 	� :�� 	���� ������	��� 	��	
��.� f(x; p1, p2, . . . pm) ���	 :		
�� 	� 	�� ��
�	��

��� �(�����8 � �	��
��	 �
�� ������ �� :		�� 	� � ��	 �� ��
�	� 
� 	�� y−x ���
�H

	� ����� ��� 
	�����	 ��� 	� �� ��	���
����

"�� ��
� ������� �� :		
�� �������� ��� �
�	�
��������
$� �(��	 :		
�� 
� ������ 	��� 	�� ������� 
� ������ ��������
��� n ����	
���

��� ��	�
��� ��� n ��
�	� 
� 	���� ��
�	� ��� ����	
	�	�� 
�	� 	�� ����	
��H 	���
� ������	��� ��� �� ��	���
��� � ����
�� �� ����	
�� � �	��� ��� �(�����8 �
�	��
��	 �
�� ��� �� :		�� 	� 	�� ��
�	�8 � �
���� 	� 	���� ��
�	� 
� � ���
�8 �� � ���
�
	� 	���� ��
�	� 
� �
���� �����8 �	�� @� �� ���� � 	�
�� 
� ���� �� 
�	������	
��8



��%� 4� ����� +��
�� ��*

��� �(������
$� 	�� ����������	 ������ ��� 
�������8 ��� �(��	 :		
�� 
� 
�����
���8 	��� 	��

	��. 
� 	� :�� � :		
�� ���	 
� ���� ������ $� 	��	 ���� 	�� 	��. 
� ������  �� �		
���
C������ 	�� ������ �� ������	��� 
� ���� 	��� 	�� ������ �� ��
�	�� ��� �(�����8
� �	��
��	 �
�� 
� :		�� 	� �� �������� ��
�	��

$� 	�
� ���	
��  �� �		
�� 
� �
������� ��� � 2��� 	�� ������	�� ������ ��� ��0
���	�� �� 	��	 	�� ����	
�� ��	�
��� 	�
� �� �� �� ���� 	�� F����
��F ����	
��8
	��	 ����� �� ��	�
��� 
� �� ����� ���� ������	8 �� ����
���� 2������8 	�
� ����
��
����	
�� 
� ��	 .���� 6
� 
	 ���� 	��� �� ���� ��� �������
�� ����� �����78 ���
���	 F�����F 
� 
� ���� � ����	
���

����� ������ ��
��

��	

$� 	�
� ���� �� ������ 	��	 �(��	 ������ �� 	�� 
���������	 ���
����� x ��� .����8

��� 	�� ��� ��	 �
�	��	�� �
	� ������ ��� �(�����8 	������	��� 
� �������� 
�
�(��	� .���� 	
�� �����	�8 ��� ��� 	������	��� 
� ����� 	� ������

"� :�� ��	
��� :		
��8 ����� �� ������
	 �
�	�
��	
�� �� ���������� ������
������
�� 	� ���� ��
�	 ����	 	� �� .����� $� 	�
� ���� 	�� ���� 	��� ��� �����
��	
��	� �
�	�
��	
�� ������	���8 ���� �(���	�	
�� ��� ���
����8 ��� 	��� :�� 	��
���	 �������� ������	�� ������� "�
� 
� ������ ��-
��� �
2��

��� ���
���

5����� �
�	�
��	
��8 �
	� �(���	�	
�� ϕ ��� ���
���� σ8 �� �������	� ��
������� ������� ����������	 ������ ��� ������ � ��� 8 �����8 
���������	 ��0
���	�� "�� 	��. 
� 	� ��	���
�� ������	�� ������ �� 	��	 ����	
�� ������ f18 f28
� � � fn �������	�� 
� ��
�	� x18 x28 � � �xn ���	 �������� �(���	�	
��� ϕ18 ϕ28 � � �ϕn�

)���� �������

�������8 �� � :��	 ����8 	��	 ���
���� σ 
� 
���������	 �� 	�� ����� �� ����������	8

��� 	�� ���� ���
���� σ 
� ���
� 
� ��� 	�� xi ��
�	�� "��� 	�� ������
�
	 ����
	 
����	
�� �� fi ���������� �	 ��
�	� xi 
�

φi(fi) = exp

(
− (fi − ϕi)

2

2σ2

)

�
��� 	�� �������� ������8 ��� 	��
� ������8 ��� 
���������	8 	�� ����
��� ����
	 
����	
�� �� ��� 	�� ����������	� 
� 	��
� ������	B

φ(f ) =

n∏
i=1

exp

(
− (fi − ϕi)

2

2σ2

)

3�	
��� �������
�� 
� ��	�
��� �	 ��(
��� �� 	�
� ������
�
	 ����
	 � $	 
� ���
��8
�������8 	� �
�
�
=� 	�� ����	
�� �����
	�� �� 	�
� ������	B

min
{a,b,c,... }

n∑
i=1

(fi − ϕ(xi, a, b, c, . . . ))
2

2σ2
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����� ������	��� a, b, c, . . . �� ����	
�� ϕ(a, b, c, . . . ) ��� :		��8 ��� �� ������
	��	 ������	
�� ������ �� ����	
�� ϕ(xi, a, b, c, . . . ) ����� ���� ���� ��	�
��� � 
F����
��F ����������	� 6$���8 	�� ��.���� �(���	�	
��� ��� ��	���
��� � :		
��
������	��� a, b, c, . . . �7

���	�� σ2 
� ����	��	8 
	 ��� �� �
�	�� �� ���� 	�� ������� $	� ����� ���� ��	

�A����� 	�� �
�
�
=�� ��
�	8 
��� 	�� ��
�	 a, b, c, . . . �	 ��
�� 	�� �
�
��� 
�
����	��8 	��� 	�� ������
�� �
�
�
=�	
�� ������� 
� ���
�����	 	� 	�� ��
�
��� ���B

min
{a,b,c,... }

n∑
i=1

(fi − ϕ(xi, a, b, c, . . . ))
2

"�
� 
� ���
�� �& ���	� 	,�� �	� $� 	�� �
�
��� 
� �������� ��� 
� �� 
�:�
	�
����� �� ������	��� a, b, c, . . . 8 �� 
� �� ��� �� ���� 	��	 	�� �
�
��� 
� 
��
��
	�� ������ ����
�8 	��� ������
�� ��� ����� �
�
�� 
� ������� "���� �
�
�� ���
������	 	�� =����� 6����	
���7 �� 	�� ������
�� ����	
�� � �	��B

2

n∑
i=1

(
(fi − ϕ(xi, a, b, c, . . . ))

∂ϕ(xi, a, b, c, . . . )

∂a

)
= 0

2

n∑
i=1

(
(fi − ϕ(xi, a, b, c, . . . ))

∂ϕ(xi, a, b, c, . . . )

∂b

)
= 0 6
��7

���

$� ���� �� �
���� ����	
�� ϕ(a, b, c, . . . )8 ���� :		
�� �	��
��	 �
�� �� ���
�8 	��
��L��	
�� 
� � ��� �� 	���� ������	
� 
� ������	��� a, b, c, . . . � -� � �����	8 	�� :��	
������ 
� � �	�� 6
��7 
� � �
���� ����	
�� �� 	�� ������	���8 ��� 	�� ���
��	
���
�� ��� ���	�
� 	�� ��.���� ������	���8 	��� � �
���� ����	
�� � �	�� 
� 	��
������	��� 
� ��	�
���� ��� :		
�� � ���
�8 ��� �(�����8 	�� ����	
�� � �	�� 
�

n∑
i=1

(fi − (a+ bxi + cyi)) = 0

n∑
i=1

(fi − (a+ bxi + cyi))xi = 0

n∑
i=1

(fi − (a+ bxi + cyi)) yi = 0

2��� ������ fi8 xi8 yi 6i = 1, 2, . . . , n7 ��� .���� ��� ������ �� ������	��� a8 b8 ���
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c ��� ���.�� ���8 
��� 	�� ����	
�� ��� �� ��
		�� ��

(n) a +

(
n∑

i=1

xi

)
b+

(
n∑

i=1

yi

)
c =

(
n∑

i=1

fi

)
(

n∑
i=1

xi

)
a+

(
n∑

i=1

x2i

)
b+

(
n∑

i=1

xiyi

)
c =

(
n∑

i=1

fixi

)
(

n∑
i=1

yi

)
a+

(
n∑

i=1

xiyi

)
b+

(
n∑

i=1

y2i

)
c =

(
n∑

i=1

fiyi

)

"�� ����.�	�� ���� ��� .����8 	���� ��� 	�� ���'�
��	� ��� 	�� �
��	 ���� �
��
�� 	�� ����	
����

E�
����	*�
 �	
��� �������	�
� �
	8 	� � ��	 �� ��
�	�8 � ����	
�� ϕ(x) =∑m
k=1 akgk(x) ����� ����	
��� gk(x) ��� .����8 �
���8 �� ��	 ���	�
� ��.���� ��0

����	���� 6C����� ������� �� � ��0������ �	������� ���
��� ��� �(�����B gk(x) =
xk−1�7 "��� ϕ(x) ������� �
����� �� ������	��� ak8 ��� 	�� ��	��� �� ����	
������� ��� �� �����

=�	����
 ����� �������

,������� 8 ���
����� σ18 σ28 � � �σn �	 	�� �
>����	 ����������	 ��
�	� ��� �
>����	8
��� 	�� ������� 	� �� ������ 
�

min
{a,b,c,... }

n∑
i=1

(fi − ϕ(xi, a, b, c, . . . ))
2

σ2
i


���

n∑
i=1

(
fi − ϕ(xi, a, b, c, . . . )

σ2
i

∂ϕ(xi, a, b, c, . . . )

∂a

)
= 0

n∑
i=1

(
fi − ϕ(xi, a, b, c, . . . )

σ2
i

∂ϕ(xi, a, b, c, . . . )

∂b

)
= 0

���

$� � �
���� ����	
�� 
� :		�� 	��� �
���� ����	
�� � �	�� 
� ��	�
��� 
� 	�
� ����8
	���

$� 	�
� �� 	�� ������ �
	� ������� ���
���� ��� 	�.�� 
�	� ������	 �
	� ������
��
��	�8 	�� ���� �����	�
� ���� �
	� ������� ��
��	��

-�����	� ������ �� 	�� ���
����� ��� ���� ��	 �� .����8 	��
� ��	
� 
� �������
$� �� .��� ��� ��� 	�� ���
����� σi ��� ����	�� 	� ���
���� σ∗ 
� �� ���
	���
� 
�����	�� ��
�	 x∗8 ��� ��
	� σ∗

i σ
∗ 
��	��� �� σi� ���	�� σ∗ ��� �� �
�	�� �� ����

	�� ����.�	�8 ��� ��
		���



��%� 4� ����� +��
�� �
�

��
�
����� 
	���	���	�
 �. �����

$� ����� �
�	�
��	
�� 
� ��	 ������ 	��� ��	��� �� ����	 ������� 
� ��	 	�� ��	
���
�������
��� - ������� �� �� ���
��� 
� 	�� ����� �� 	�� �
�	�
��	
�� 
� .����8
�	����
�� �����(
��	
�� ��	���� ���	 �� ����
���

$� 	�� �
�	�
��	
�� 
� ��	 .���� ��	 	�� ����������	� :	 	� ���� ����	
��
������
�� 	� �
���� �������	
�� 	��� ��	��� �� ����	 ������� �� �� �����(
��	�� 
��	
���� 3	����
��8 ���� 
� 	���� ��� ��� ������ ��� 	� �
�	 �� �� ������� �������
�
	� �
�	�
��	
�� ��� ���� ������ 	��� �
�
�
=
�� ��� �� ������	� ������ �� ����
���� �
����� �	�	
�	
� 
� ������	���

-5�������� �����A �

 ���	��	�	��

C����� ��� ��� 	� �������	� ���
��
�
	 �� 	�� ��	�
��� �����	�� "�
� 
� �� 
����	��	
����	
�� 
� �� ��� ��	 ���� ���	��� 	�� �����	�� ����	
�� ����� ���� �����
��� 	��
����	
�� ��������	�� � 	�� �������� ��	��

���� 
� 	�
� 
� ��	 	�� ����	
��8 ��� �� .��� 	�� ����� �� 	�� ����	
�� 	� :	8
.�������� �� 	�� ����
����� ��	 �� ������	�� ������ �� �� 
����	��	� 9��	
������ 

�	����	
� 
� 	�� ����	
�� �� ����
��� ������ �� �
>����	 ������	���8 ��� 	�� �����
�� ����� �
��� �� ��������� "�
� 
� ����	�� 	� 	�� ����	
�� �� 
� ��� ��� ���� ��� 	��
������	��� �������	���

$� 	�� ��
�	� �� ����� ������
�
	 ���� � �
���� ������ 	�� ��	
��� ������	��
���	��8 
� ���� �� 	�� ������	���8 	��� 	�� ������	��� ��� ��	 �������	��� $� 	�� 
���� �� ������	�� ���
�� 	��� 	�� ������	��� ��� �	����� �������	���

����� �����
����� ��
��

��	

,������� ���� 	�� 
���������	 ���
����� ��� ���L��	 	� ������ 3�� �����	 �� ����8
��� �(�����8 
� 	�� 	
�� �����	 ���� � 	������	��� ����������	 ��� �����
"��� ��	� 	������	��� ��� 	
�� ��� �����	�
�� -	 ������
�� ����� ��������8 ��	
L��	 	�� ������� �������� ��	 	�� 	������	��� 
� ���� �����	�
�� -�� 	���� ������
���	 �� 	�.�� 
�	� ������	 �	 :		
���

$� ���� ����� 	���� 
� �� ������ 	� ��.� �
�	
��	
�� ��	���� 
���������	 ���
��������	 ���
������ $��	���8 �� ����
��� �������� ��
�	� 
� �� N 0�
����
��
����� �� ��� ��������	�8 
�����
�� ��	� F
���������	F ��� F��������	F ���
�����8
��� ���. ��� � � ��������� ���� :		
�� �� 	�� ��
�	�� "�� ����	 ������� ��	���
����� 
� 	�
� ���� ����� 	�� 	��.

min
{a,b,c,... }

n∑
i=1

N∑
j=1

(xi,j − ξi,j(a, b, c, . . . ))
2

σ2
i,j

f(ξ) = 0

����� x ��� 	�� �������� ��
�	�8 ξi,j 
� �(���	�	
�� �� ���
���� j 
� ����������	
��
�	 i8 ��� ����	
��� fk(ξ) = 0 k = 1, 2, ...,M7 ��� ����	
��� �� 	�� :		�� � ���0
�������� "�
� 
� � �
�
�
=�	
�� 	��. �
	� ����	
�� 	 �� ����	��
�	��
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�� ������ �� � ������	 �� ���� ������	
�� ����� �
�
���� ���
����8 ������� 	
��8 ��� 	�� ������ ��� �� �������� � � �
>����	
��
����	
��� ��� �(����� �� �	�� 	
�� ���������� �� 	������	��� 
� � ����
��
�������8 �� ������	��	
��F� ������ 
� 	
�� 
� � �
(�� 	��.� "
�� 	�.�� ����� ��

���������	 ���
���� 
� � ���
� ���������

"�� 
���������	 ���
���� 
� ��	 ���� � 	
��� ��� �(�����8 ��� ��� �	�� 
��	��
�� ������	
�� ����� 	�� ����	� �� �� 	������ ����	��� <�	 	�� 
���������	
���
���� ��� �� �� 	�
�� ����8 ���� ������	��	
��8 ������
�� �� 	�� �	��
�� �� �
���
��������

���� ������� ��� �������� � ���
��� �
>����	
�� ����	
��� 63��0�7� "��
�
������� ���� 
�

F (t, x,
dx

dt
,
d2x

dt2
,
d3x

dt3
, . . . ) = 0 6
�%7

����� t 
� 
���������	 ���
����8 x 
� ��������	 ���
����8 x(t) 
� 	�� ��.���� ����0
	
��8 ��� F (t, x, x′, x′′, . . . ) 
� � �
���8 .����8 �(�����
��� $� ������� ���
����� 6x18
x28 x38 �	��7 ������ �
���	������� �� 	�� ���� 
���������	 ���
���� t8 ��������
�
	� �� 3��8 ��� 
� �(�����
��� Fi ��	 ��� xi8 x

′
i8 x

′′
i 8 �	�� ��������	 ���
�����

	�.� ����� � �	��� ���
����� ��� 	��
� ���
��	
��� xj 8 x
′
j 8 x

′′
j 8 �	��8 	��8 	��� 	����

�
>����	
�� ����	
�� 	���	��� ���� � � �	�� �� ���
��� �
>����	
�� ����	
����
2
���� ����� 3��� ��� �� 	���������� 	� :��	 ����� 3�� � �	��� � 
�	��0

���
�� ��� ��������	 ���
������ ��� �(������8 ��	 y ≡ dx

dt
8 z ≡ d2x

dt2
8 �	��8 	���

3�� 6
�%7 
� ���
�����	 	�

F (t, x, y, z, . . . ) = 0

dx

dt
= y

dy

dt
= z 6
�!7

���

-� 3�� �������� ��� 
�:�
	�� ��� ����	
���� �����	� �� 	���� ����	
��� ���
���
���� � (����� . ����
�
��	� ��� ���
��
�� ���	
����� ����	
�� �� �� N 0	� �����
3�� 6
��� �� � �	�� �� N :��	 ����� 3���78 � � �	�� �� N ������� ����
	
���
��� �������

"�� N ������� ����
	
��� �� ���	�
� �
�����	 ������ �� t8 	�� 
���������	
���
����� $� �	��� �����8 	�� ������� ����
	
��� �� �(����� ���� ����	��
�	�
�� 	�� ������ ��� ���
��	
��� �� 	�� ��������	 ���
����� �	 �
>����	 t ������� $�8
�������8 ��� ������� ����	��
�	� ����� 	� 	�� ���� 
���������	 ����� t0 	��� 	�� 
��� ������ 
�
�
�� ����
�
��	� $� 	���� ����
	
��� ��� 
� 	�� ���� �� Gj(t0, x, x

′, . . . ) =
bj ����� ������ bj ��� �
��� 	��� 	���� ��� ������ 
�
�
�� '����	8 	�� ������� 
	����

� .���� �� 
�
�
�� '���� � �(����
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���� ��� �� �� ������ 	��	 	�� 3�� 
� �
��� 
� �(��
�
	� :��	 ���� ����� $�
	�� ���� �� � �
���� ��������	 ���
���� 	�
� �����B

dx

dt
= f(t, x)

$	� ���� 
� ������� ��������	 ���
���� 
�B

dxi
dt

= fi(t, x1, x2, . . . ) (i = 1, 2, . . . )

$� 	�
� ���	
�� �� �
����� �����
��� ����	
�� �� 3����

����� ����� ������

�
����	
=� ������ �� t 
� ����� ���� 6�	���
=�7 h 6	�
� 
� ���� ������ ���
�
�	��	
�
����	
=�	
��78 ��	�
�
�� ��
�	� t0 = 08 t1 = h8 t2 = 2h8 �	�� "�� ������	
�� 6��	
 �	 ��.����7 ����	
�� ������ ��� x0 = x(t0)8 x1 = x(t1)8 x2 = x(t2) �	�� �(����
	�� ��.���� ����	
�� x(t) ������ ���� ��
�	 ti 
� 	�� ������� �
���	
�� 6&� �� �
�
@� ����	78 ��� �	�� ��	�� 	�� :��	 ������B

xi+1 = xi + h

(
dx

dt

)
i

+ o
(
h2
)

����� o
(
h2
)
����� 	��	 	�� ����
�
�� ����� ��� �� �����(
��	�� �
	� � ���
���
��

������ ������ 
� h� $���( i ���� ���� �� ������ 	� ��
�	 ti�
����	
	�	� 	�� �
��	 ���� �
�� �� 	�� �(����
	� 3�� 	� 	�� ����� �� 	�� ���
��0

	
��8 	� ��	�
� ���� F� ��	���B

xi+1 ≈ xi + hf(ti, xi)

��8 �
	� �
����� ��	�	
��B
xi+1 ≈ xi + hfi

"�
� 	�� �
�����	 ��	��� �
	� ����	��	 h �	���
=�� ���� F� ��	��� �����(0

��	�� 	�� �
>����	
�� ����	
�� �
	� �� ����	
�� �� :�
	� �
>���������
��� �����
�� x1 ��	�
��� 
� 	�� :��	 �	�� 
� ��	 �(��	� ����
��8 
	 ���� ��	 �
� �� 	�� �(��	
���	
����� ����	
��� "�� ��(	 �����(
��	� ����	
�� �����8 x28 
� ����	�� ���� 	�
�8
������ 
���
�
��8 ��
�	8 �� 	��	 
	� 
�������� 
� �
����� 5����
��� ������ ����0
����	� �	�� � �	��� "���� ��� 	�� ��
� ������������B 6�7 "�� �����
��� ����	
��
��	�
��� 	�
� �� ���� ��	 ��
��
�� 	� �� �� 	�� ���	
����� ����	
���8 ������� 	��
��	��� ����	
�� ����� L���� 	� ���	��� ���	
����� ����	
�� 
� ���� �	��� 6�7 "��
���� �	��� ��� ����8 	�� ������ 	�� �����
��� ����� �	 	�� ��� �� 	�� �������	
���

���� F� ��	��� 
� ���	���� 
� ���� ������ )���
���8 ��� �(�����8 	�� :��	 �����
�
���� 3��

dx

dt
= −B2x
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$	� �(��	 ����	
�� 
�
x(t) = −x(0)B2 exp(−B2t)

����� x(0) 
� 	�� 
�
	
�� ������ ���� ����	
�� 6	�� ���	
����� ����	
�� ������
�� 	�
� ���	
����� ����� �� x(0)7 ���������� � �	 
�:�
	� 	
��� �	��� �� 	�� ���� ��	���
���

xi+1 = xi −B2xih =
(
1−B2h

)
xi

�
��� B ��� h ��� ����	��	8

xi+n =
(
1−B2h

)n
xi = Anxi

����� A =
(
1−B2h

)
� &
�
	 �� 	�� ��	�
��� �����	�
� ���
�� ������� �� A�

An → 1

1−A

� |A| < 18 ��� An → ∞ 
� |A| > 0� $� h >

2

B2
	��� 1−B2h < −18∣∣1−B2h

∣∣ > 18 ��� 	�� �����	�� ����	
�� �
������ 	����� 
�:�
	 � $� ����� 	� .���

	�� �(�����	
�� ����	
�� 
� 
	� ���� 	���. �����
���� 8 � �	�� �
=� ��� �����
2

B2
���	

�� ����
��� -��� 
�� ���� � ����� �	���
=� ��� 	�� 
�������
��	 ������������� -
������� ��� 
� 	�� ���� �����	�	
�� 	
�� 
	 �
��� �
�� 	�� "�� ������ ��� 
� 	��
��������	
�� �� �����
�� ������ 	�
� �� 8 �� 	��	 	�� �����	�� ����	
�� �
�� ��

�����
�� �	 �
���� 	 �������

���� �� ���	��
�
	 ��� �� ���
��� � ���� 
�� (��2�� �	 �
@� ����	8 
��� �(0
����
�� 	�� ����	
�� ���.����� 
� 	
��B

xi = xi+1 − h

(
dx

dt

)
i+1

+ o
(
h2
)

< ������������	 ��� ��	� 	�� 
���
�
�� ���� ���
��B

xi+1 ≈ xi + hfi+1

	��	 
�8 � ����	
	�	
�� 	�� 3��B

xi+1 = xi − hB2xi+1

��� :���� B

xi+1 =
xi

1 + hB2

"�
� 
� �	���� 
�������	
��� 	� h ������� 1 + hB2 > 1�

����� ���8 �������	
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�� ����� �������� 	��	 �
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�
�� �� ���� 
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-5����� �B �
�� ����	
�� ��

d2x

dt2
= 100x

�
	� 
�
	
�� ������

x(0) = 1

dx

dt
(0) = −10

��� 
������
�� t� "�� �(��	 ������� ����	
�� 
�

x(t) = A exp(−10t) +B exp(10t)

����� A ��� B ��� 
�	����	
�� ����	��	� ������
�� �� 	�� ���	
����� 
�
	
�� �������
< ����	
	�	
�� ��� ��	� A = 18 B = 08 
��� 	�� �(��	 ���	
����� ����	
�� 
�B

x(t) = exp(−10t)

/���� �� 	�� ����	
�� ����	
�� � � 
� �8 ��� 
� �(�����	
��� �		����	
�� 	�����
� �
	� 
������
�� t� @��� 	�� 3�� 
� ������ �����
���� 8 �������8 	���� 
� ���� �
���� �����8 �� �����8 �����
�� ������ "�
� ���
���	� 
� ���� ����� ��	 ���
	
��
ε ����� �� BB

x(t) = exp(−10t) + ε exp(10t)

-� ����� ε 
�8 	�� ������ ������ ���
��	�� �	 �
���� t ������8 ��� 	�� ��0
���
�� ����	
�� 	���� �������
-5����� �B �
�� ����	
�� �� 	�� :��	 ����� �
���� 3�� � �	��

dx

dt
= 998x+ 1998y

dy

dt
= −999x− 1999y

�
	� 
�
	
�� ������ x(0) = 1 ��� y(0) = 0� "�� �(��	 ����	
�� 
�

x(t) = 2e−t − e−1000t

y(t) = −e−t + e−1000t

"�� ���'�
��	 ��	�
( 
� ���.� ����
	
���� 6
	� ��	���
���	 
� ���� =���78
��� ����� 	�� ����	
��� ���	�
�� �(�����	� �
>����	 �
	� ����
	����� "�� ����
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� 	�� :��	 �(������ "� ��	�
� � �����
���� �	���� ����	
��8
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>���� ��� �� �������� � ���� 
�� ���� �����	�� ������� 	����0

�����	
��� < ����	
	�	
�� x =
1

y

� �(���� �8 	�� 3�� ��� y 
� ������ ��	 �	
>�
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�� �� ����� �����
	 �
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=� �� � ���
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����	
�� ������ �� �����	�� 	� 	�� ���	��	 ������� 6��������
��� ����� A��8 ���� �������7 ��	 	��� ��� ���� �
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�	��� �� ������	��
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������3���� ��	���� ��� ���� �
���� ����� �����(
��	
���8 ��� ��� �� ���0
�
����� �� 
���������	� �� 	�� ���� ��	���� -�����
�� 	� 	�� ���� ��	���8
������ �� 	�� ��.���� ����	
�� x ���
�� � �	�� h 
� ��	���
��� � 	�� ����� �	
	�� ���
��
�� �� 	�� 
�	����� f(ti−1)8 	�����	 	�� ����� ��� �� ��	��� �
>����	 �	
	�� ��� �� 	�� 
�	�����f(ti−1+ h)8 
��� f(ti)� 5�	����� 8 	���� 
� �� 
�	����� �������

����� f̂ 	��	 ����� �����	 
� 	�� �(��	 �����B

x(t+ h) = x(t) + hf̂

"�� ������3���� ��	���� �
>�� ���� ���� �	��� 
� ��� 	�
� ������� ����� f̂ 
�
�����(
��	��� ���� ��	��� �����(
��	�� 
	 �
	� 	�� ����� �	 	�� ���
��
�� ��
	�� 
�	������

"�� �
�����	 ������3���� ��	��� 
� 	�� ������
��� �
��	 �����(
��	� 	��
������ �� x ����� 	�� 
�	����� �� ����	 h �
	� 	�� ����� �����	�� �	 	�� ���
��
��
�� 	�� 
�	����� 6	�
� 
� k = f(t, x(t)h)78 ��� ��.� � ����0�	�� ����� 	�� �	��
��	 �
��
������	
�� ��
�	 t, x(t) 	� ��
�	 t + h, x(t) + k) 	� ��	 	� ��
�	 (t + h/2, x(t) +
k/2)� "��� �����(
��	� 	�� �	�� �
	� 	�� ����� �	 	�
� ����0�	�� ��
�	� "�
� 
�
������	
����� ����	�� ��

k1 = hf(ti, xi)

k2 = hf(ti +
1

2
h, xi +

1

2
k1)

xi+1 = xi + k2

2������.� �
�	 ������� ������3���� ��	����� - ���������� ��� 
� 	�� ��0������
����	�0����� 1? ��	��� ������� �� 
	� � ���	�
� ��	��� 	��	 ��.�� 
	 �����	 :�	�
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k1 = hf(ti, xi)

k2 = hf(ti +
h

2
, xi +

k1
2
)

k3 = hf(ti +
h

2
, xi +

k2
2
)

k4 = hf(ti + h, xi + k3)

xi+1 = xi +
k1
6

+
k2
3

+
k3
3

+
k4
6

��� /������� ����� ��������

$� 	���� ��� ������� 
���������	 ���
����� 
� � �
>����	
�� ����	
�� ��� 	�� �����0
�� ����
	
��� ��� ��	 ����	�� 	� L��	 � �
���� ��
�	 ��	 	� ���� ���	� 
� 	�� �����
�� 	�� 
���������	 ���
����� 	�� �� ����. ����	 � (����� . '���� � �(����

�����	��� �5�������

� �
�	�
��	
�� �� ������	��	
�� ��� 	������	��� 
� ���.�� ��� ����� � �����
���	
��8 �
	��	�� ���� �
�	���� ���� 	�� ���� ��
�	8 �� � 	������ ����	�� :����
�
	� ��	�� �	 �� ���
� ����
��8 �
��� �
	��� ���� 	������	��� �� ���	
�� �����
�� 
�����	
��� -	 	�� ������� �� 	�� ����� ��	
�� 	�� �����
	
��� �� ��
	�.�� � ���	�
�� �������	� ���� 	�� 
��
�� 
� � ���	�
� 
� � � �
���
���
���
��8 ��� 	��� 	�� ������� ������� ��
���
�	�8 ����� ���
��� $� ���� ��
�	���	���� ���.
��8 ��� �
>��
�� ��� ���	 ������	
�
	 ������� ������
�� 	�
����� ��� �
���	
��8 	��� 	�� ������� ��� �� ��	��� �
'���	�

� �
�	�
��	
��� ��� 	� �� �����	�� ����� � ����� ���	
�� �� � 	��� 
� � ���	
	���
����	��� $� 	�
� ���� 	�� ������� ����
	
��� ��� ��	 � ���	�
� �	 	�� 	����
�
	��	�� ���� 	�� ��	�� ���	 �� 	�� �������


 "������	��� �
�	�
��	
�� 
� ���.�� ��� 
� � �����0���0	��� ���	 �(��������

# 4�����
�� A��8 ��������8 �(�	��� ���	
��� 
� 	���� �
����
�� ����� �
	�
�� ���	�
� �������
��8 ��� A�� ��		���� �	��

� 4�����
�� 	�
�.�
�� �� �
>��
�� �� ���	��
��	
�� 
� ��
�� ��� �
��

���� �������� ��� �
������� 
� ������	
���� �����
��� ���
����
�� �
	� �
�0
��
:�� ������ ���� 
�� 	�� ��
��
��� �� �
�
���
	 ��� ������ 6��.����	8 ��		���8
4 �����8 4�����8 ���2��
�� �	�� �������7� 4��� ����
�� ������
�� 
� ����
���
�
	� �����
��� ����	
�� �� �
>����	
�� ����	
���8 ��� ����	
��� 	�� ��� ����� 
�������

"���� �������� ��� �������� �
	� ���	
�� �
>����	
�� ����	
���� 2��� �� �
��
����	� 	�� 
���������	 ���
����� �
	� x8 �� 	��
� ���� �
	� x� - �
���� ��������	
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���
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� ����
�����8 ��� �
���
�
	 8 ����	�� � U � 2��� U ����	�� 	�� 6��.����7
�(��	 ����	
��8 ������� u �
�� ����	� 
	� �����	�� �����(
��	
���

"�� ����
� �� 
���������	 ���
����� ��� �� �� �� ������ ��� �(�����8 
� 	����
��� 	�� 
�	�������	 ���
����� 	��� �� �� ���. ��� �� ��.���� ����	
�� ���� �
���	�����8 �� ���� � ���� �
���� ����8 �� ���� L��	 	�� ���	��� �
�� �� 	�� �
���� ����8 ��
���� � ���0������� ��� ���8 �	�� "�
� 
���	
 �
�� �� ����	�� ���� � Ω� /� ��	�
�& 	�'� �� '� 
�(��	5 �
� ���

��� �& ����
� Ω 
	 ��� � 	�� �& �
	� ��� ��
��	 (��
�� �-������ 	
���* � �
�� 
� �
� ���
�5 � 	� &��� 
� �
� �
 ����
���	
�� 	����5 ����
F����� . ����
�
��	 � � �
'�� �'� �

	 (����� .� >���� (����� . ����
�
��	 ���
(� �
@� ���
�� �,���
��	 �	 ���� �	 � �
�� . �,���
��	�

��"�� ���
�� 
�����	


"�� �
�����	 ������� ����� ������� �����
����� 
� � ������ ����� ���
��� �
�0
�����	
�� ����	
��

d2U

dx2
= f(x, U,

dU

dx
)

	� �� ������ ���� 
�	����� a ≤ x ≤ b8 �
	� ������� ����
	
��� U(a) = Ua ���
U(b) = Ub� �(�����
�� f(x, U, U ′) 
� .����8 ��� 	�� ��.���� ����	
�� U(x) 
�
���.�� ����

$	� �
�����	 �����
� ����	
�� ��	��� 
� �� ��� 	
���
��� $� �� ��� 	�� ���
��	
��
U ′(a) 
��	��� �� Ub 	��� �� ����� :�� u(x) �����
���� �
	� � ��	��� �� 	���
��
��� ����
�� 	�� 
�
	
�� ����� ������� ��	�
���� �
��� 	�
� 
�
	
�� ����� �� U ′ 
�
��	 .����8 �� ��	
��	� 
	B U ′ ≈ V 8 ��� ����� 	�� 
�
	
�� ����� ������� �
	� 	�
�
��	
��	�� -� � �����	8 �� ��	�
� �����
���� � ����	
�� u(x)8 ��� 
	� :��� �����
u(b) ����	�� �
	� ub� "�
� ub 
� � ����	
�� �� 	�� 
�
	
�� ����� �� 	�� ���
��	
��
U ′ ≈ V H ��� ��� ����	� 	�
� ����	
�� �
	� ub(V )�

$� V 
� � ���� ��	
��	� �� U ′(a) 	��� 	�� �����	�� ����� ������ 	�� ����
:��
������� �����B ub(V ) ≈ Ub� $�8 � ������8 	�� ��	
��	� 
� ����
�� 	��� V = U ′(a)8
��� ub(V ) = Ub� "��	 
�8 	�� ������� ��� �� 	���������� 	� ����
�� �� ����	
��
�� ���� ub(V ) = Ub8 ��� �� ��� ���� 	�� ��	���� �
������� 
� 	���
�� ������

��"�� &�	��� ��8���	��


5�	 ��� ����	
�� U(x) ��	 
	� ���
��	
��� ��� ���� ��.����� $� ���
�� �& +�
�
�� �
&� ����	 	�� 
���������	 ���
���� x 
� �
����	
=�� ��� U(x) 
� �������	�� 
�
�
����	� xi ��
�	� ��� � "���� ������ ��� ����	�� � ui8 ��� 	�� ���
��	
��� ��� ��0
	
��	�� �
	� ����� "�� �� ��	
��	�� ���
��	
��� ��� ����	
	�	�� 	� 	�� �
>����	
��
����	
�� 	� ��	�
� �� ���
��� ����	
�� � �	�� �������� ��� ui�
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	�� 
	B���
���

������
 
	B���
��� ��� ��	�
��� �� �� 
�	����� Ixi8 xi+1J �� ����	� h � �(����0

�� 	�� ��.���� ����	
�� ���� ��� ���B

Ui+1 = Ui + h

(
dU

dx

)
i

+ o(h2)

2���� �����(
��	
�� �� 	�� :��	 ���
��	
�� 
�(
dU

dx

)
i

=
Ui+1 − Ui

h
+ o(h)


��� (
dU

dx

)
i

≈ ∆
(1)
i

h
=
ui+1 − ui

h

2
���� ����� ���
��	
��� ��� �����(
��	�� 
� 	�� ���� �� B

(
d2U

dx2

)
i

≈ ∆
(2)
i

h2
=

∆
(1)
i+1 −∆

(1)
i

h2
=
ui+2 − 2ui+1 + ui

h2(
d3U

dx3

)
i

≈ ∆
(3)
i

h3
=

∆
(2)
i+1 −∆

(2)
i

h3
=
ui+3 − 3ui+2 + 3ui+1 − ui

h3

�	��

%�
���� 
	B���
��� ��� ��	�
��� �� �� 
�	����� Ixi8 xi+1J �� ����	� h � 
�(����
�� 	�� ��.���� ����	
�� ���� 	�� �
���
�	 	� ��	� �
���	
���B

Ui+ 1
2
= Ui +

h

2

(
dU

dx

)
i

+
(+h)2

8

(
d2U

dx2

)
i

+ o(h3)

Ui− 1
2
= Ui − h

2

(
dU

dx

)
i

+
(−h)2

8

(
d2U

dx2

)
i

+ o(h3)

�
>������ �� 	�� 	�� ����	
��� 
�B

Ui+ 1
2
− Ui− 1

2
= h

(
dU

dx

)
i

+ o(h3)

����� o(h3) 
� �� �(�����
�� �� ������ �� ������ 2����(
dU

dx

)
i

=
Ui+ 1

2
− Ui− 1

2

h
+ o(h2)

����� �� 	�� ������� �
>������� ������� 
� �� :��	 ������8 ������� 	��	 �� 	�� ���	���
�
>������� 
� �� ������ ������� -��� 
�� ���	��� �
>������� 
� ����������� �������
�� ��� ����� �
���� ������� �
	� 	�� ���� �	���
=� 6���� �� ��
� ����
��7�
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)��	��� �
>������� ��� 	����
���� ���
�� 	� ���. �
	� 
� ���� �
=� 2h 
� ����
��8
	��� �� ���� 
���(�� ��� ����B(

du

dx

)
i

=
ui+1 − ui−1

2h(
d2u

dx2

)
i

=
ui+2 − 2ui + ui−2

4h2(
d3u

dx3

)
i

=
ui+3 − 3ui+1 + 3ui−1 − ui−3

8h2

2���	(��	��� !
	�� 
	B���
���

9��� ��� �
(�� ���	
�� ���
��	
��� ��� 	� �� �����(
��	��� "�� �
�����	 ���� 
�
� �
��	 ����� ��
� �� ���� �������� �
	� 	�� �(�� �� 	�� ��0���
��	� � �	��8 ���
��
�	� 	� �� ������	�� ��� ������	�� �	 	�� �
�	�����	
�� ��
�	 �� 	�� ��
�� �����
���� �
=� h 
� ���� �
���	
�� ��.�� 	�� ������� ���
��	 	� ���� �
	�� $� ����
���8
���	��� �
>������� ��� ����
���

�
��8 ������8 	�
�� �	�� ���
��	
��� ������
�� 	� �
	��� ���
���� ��� ������ 
�
	�� ���� �� �� 
� 	�� ���� �� � �
���� ���
����� ��� �(�����8 ������ ���
��	
��
������
�� 	� 	�� :��	 ���
���� 
� �����(
��	�� ��(

∂2u

∂x21

)
i,j

=
ui+2,j − 2ui,j + ui−2,j

4h2

4
(�� ���	
�� ���
��	
��� ��� �� ������ � :��	 �
>����	
�	
�� ������
�� 	� ���
���
����8 ��� 	�� ������
�� 	� 	�� �	��� ���� ��� �(�����B(

∂2u

∂x1∂x2

)
i,j

=
ui+1,j+1 − ui−1,j − ui,j−1 + ui−1,j−1

4h2

4��� ������( �(�����
��� ��� �� ���� 
� 	�� ���� �� � ��� �(�����8 ;�����
��
�����	�� 
� �����(
��	�� ��

∇2ui,j ≡
(
∂2u

∂x21

)
i,j

+

(
∂2u

∂x22

)
i,j

=
ui,j+1 + ui−1,j + ui,j−1 + ui+1,j − 4ui,j

4h2

�� 	�� ���� ��	�	�� �
	� #� �������B

∇2ui,j =
ui+1,j+1 + ui−1,j+1 + ui−1,j−1 + ui+1,j−1 − 4ui,j

8h2
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=�� ��� ����
�� 
�
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��	0�����7 � �	���8 �� ���� 
� ������ � �0
	���� 1��� ���� �����(
��	
�� �������� ��� ����
��� 
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�� � �	����
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	�	
�� 	�� �������� �� :�
	� �
>������� 
�	� 	�� �
>����	
�� ����	
��6�7
��� ��	�
�� ���
��� ����	
��� ��� 	�� ��.���� ���
����� ui �� ui,j,...� &
����
�
>����	
�� ����	
��� �
�� �
�� 	� � �
���� ����	
�� � �	�� 	��	 ��� ���
� �� �������

-� �� �5�����8 ����� � �
�� . �
>����	
�� ����	
��

dU

dx
+ 2U = 1

���� ����
� Ω = {x|0 ≤ x ≤ 1} �
	� ����
	
�� U(0) = 1� "�
� 
� �� 
�
	
�� �����
������� ��	 ��	��� �� :�
	� �
>������� ��� �� ����
�� ���� �� ����� 6@� ����� 	�
�
��� �
���� ������� �� 	��	 
	 
� ��� 	� ������ ���7

$�	����� [0, 1] 
� ����
�
��� 	� #8 ����� �
=� h = 0.258 ���	�8 ��� ���. ��� 	��
����	
��� 
� 	�� ��
� ��
�	� ��� 8 
��� �	 x1 = 0.258 x2 = 0.58 x3 = 0.758 ��� x4 = 1�
#��� ���.5 ���
�� �& +�
�� �
@� ����	 ��� �-
����	 �
� 	����
�� 
� +�
�� ���(� 
�& �
	� ��� ��
��	 ���.� "�� ��.���� ����	
�� ���	 ��	������ �� 
�	������	��
��	���� 	�� �������	�� ��
�	��

����	
�� ����� �	 x0 = 0 
� ������ �
��� � 	�� ������� ����
	
��� -��� 
��
������� �
>������� ��� ����	
	�	
�� 	��� 	� 	�� �
>����	
�� ����	
�� ����� 	�B

u1 − u0
0.25

+ 2u0 = 1

u2 − u1
0.25

+ 2u1 = 1

u3 − u2
0.25

+ 2u2 = 1

u4 − u3
0.25

+ 2u3 = 1

"�
� 
� � �
���� ����	
�� � �	��� "�.
�� 
�	� ������	 u0 = 18 
	� ��	�
( ����

�B ⎛

⎜⎜⎝
4 0 0 0
−2 4 0 0
0 −2 4 0
0 0 −2 4

⎞
⎟⎟⎠
⎡
⎢⎢⎣
u1
u2
u3
u4

⎤
⎥⎥⎦ =
⎡
⎢⎢⎣
3
1
1
1

⎤
⎥⎥⎦

$	� ����	
�� 
� (
u1, u2, u3, u4

)
=

(
3

4
,
5

8
,
9

16
,
17

32

)
��
��	
��� 
	B���
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8 �� � �
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	� ���'�
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������
�� �� U ���D�� 
	� ���
��	
���8 �
�� �
�� 	� ���0�
���� ����	
�� � �	�� ��
u� $	� ����	
�� 
� ���� �
'���	 ��	 ����
����

"�� ��	��� 
� ��	 �� �
���� 
� � ���
��	
�� 
� 	� �� �������	�� �	 	�� ������� 
�� Ω ������� 
� 	��	 ���� ������ ��
�	� ���	
�� �
� ����
� ��� ���� 	� �� ����
���

<������ �� 	�� ������� ����
	
���8 ��
� ��
�	� ������ �� ����	�� ����� 	��
������� � $� ���� �� 	�� �� ���� 
���������	 ���
�����8 	�� ������� ��� �� �
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����8 ��� ����	
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���8 
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'���	 �����
	���	��� �
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$� ���	���	 	� 	�� :�
	� �
>�������8 	�� ��	��� �� ��
��	�� ���
���� :��� �� ��0
���(
��	� ����	
�� ��� �'� �
� ����
�8 ��	 L��	 
� ��
� ��
�	�� ��� 	�
� �
�8 	��
��.���� ����	
�� U(x) 
� �����(
��	�� �� �� �(����
�� 
� 	�� ����� �� ����
6���������� ������	� ��� ��	��������7 ����	
�� ���
�� �� ��0������ (�	
	 &����
��	
ϕi(x) �
	� ��.���� ���'�
��	� αiB

U(x) =

∞∑
i=1

αiϕi(x)

"�
� �(����
�� �
	� ������ ���'�
��	� αi �(��	� ��	
�:�� 	�� �
>�����	
�� ����0
	
��8 	��� 	�� 	��. 
� 	� :�� 	�� ���'�
��	��

$� ����	
�� ��� �	��� ��	�� � :�
	� �	��� �� �(����
��8 ��� �� �����(
��	�
����	
�� u 
� ���.�� ���B

u(x) =

N∑
i=1

αiϕi(x)

����	� � �
>����	
�� ����	
� 6� �	��7 �������� �� D [U(x)] = 0 ����� D [.] 
�
� ��0������ �
>����	
�� �����	��� "�� �(��	 ����	
�� U(x) ��	
�:�� 	�� �
>����	
��
����	
�� 
� ��� ��
�	� �� Ω8 ��	 u(x) ���� ��	B

D

[ ∞∑
i=1

αiϕi(x)

]
= 0

D

[
N∑
i=1

αiϕi(x)

]

= 0

4�	��� �� ��
��	�� ���
���� ���.� ��� ���� ���'�
��	� αi 	��	 ��.�� �� �������
�� 	�� ������ ���� Ω =���� ��� 	�
� �
� ��� ��� 	� �����	 N �
>����	 ��
��
�
&����
��	 wj(x) (j = 1, 2, . . . , N) ���
	���
� 8 ��� 
�	����	� ���� 	�� ����
� �
	�
	���� ��
��	�B

∫
Ω

D

[
N∑
i=1

αiϕi(x)

]
wj(x)dx = 0 (j = 1, 2, . . . , N)

"�
� 
� � � �	�� �� N ���
��� ���	
��� �
	� N ��.���� ���'�
��	� αi�
)���
���8 ��� �(�����B

U(x)
d2U

dx2
+

(
dU

dx

)2
+ sin(x)

d2U

dx2
= 0
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��� �����(
��	� 	�� ����	
�� U(x) �� 	�
� ���0�
���� ���
��� �
>����	
�� ����	
��

�
	� u(x) =
N∑
i

αiϕi(x) ����� ����	
��� ϕi(x) ��� .����� �����	 ���� ���� .����

��
��	 ����	
��� wj(x) 6(j = 1, 2, . . . , N)78 �(����� 	�� ������� ����� �
	� ��
��	
����	
�� j8 ��� ����� 
	 	� =���B

N∑
i=1

N∑
k=1

αiαk

∫
Ω

ϕi(x)

(
d2ϕ

dx2
+

dϕ

dx

)
wj(x)dx+

+

N∑
i=1

αi

∫
Ω

sin(x)ϕi(x)wj(x)dx = 0

"�� 
�	������ 
� 	�
� ����	
�� ��� �� �����	�� ������� ��� 	�� ����	
��� 
� 	���
��� .����� "��� � ���0�
���� ���
��� ����	
�� � �	�� 
� ��	�
��� �
	� ��.�����
αi�

$� ���� �� � �	
��� 
	B���
�	�� �����	�
 	�� ���
��	 ����	
��� ��	�
��� 	�
�
�� ��� �
���� 
� ��.����� αi8 ��� 	�� � �	�� 
� ��� 	� ������ ����	� � �
����
�
>����	
�� �����	�� �
	� L [.]8 	�� �
>����	
�� ����	
�� �
	� L[U(x)] = p(x)8 �����
p(x) 
� � .���� ����	
��� "��� 	�� F������� ����� 
� ����F ����	
�� 
�B

∫
Ω

L

[
N∑
i=1

αiϕi(x)

]
wj(x)dx =

∫
Ω

p(x)wj(x)dx

�������� �� 
�	����	
�� ��� �����	
�� ��� �� �������8 ��� 	�� ���'�
��	� �
�	��
��	�
�� 	�� 
�	�����8 �� ��	�
� �� ����	
�� � �	�� �
���� 
� αi

N∑
i=1

aj,iαi = bj (j = 1, 2, . . . , N)

�����

aj,i =

∫
Ω

L [ϕi(x)]wj(x)dx

bj =

∫
Ω

p(x)wj(x)dx

"���� 
�	������ �� ��	 ���	�
� �� ��.����8 	�� ��� �� �������	�� 
� �������
�
	��� ���� 	
���� �� �����
���� �

�
� ��
�
� &����
��	 ��� ������ ���
� �����	�� �� ������� �� ���� ���
��� 4��	
.���� �����	
��� ��� 	�� ������
�� 	����B
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2����
 �. ��	
� ��������	�
� "�
� 
� 	�� �
�����	 ��	���8 ��� �� 
�	����	
��

� ����	
���� ������ �
	� 
	� 3�� ��� 	� ���
�� 
� 	�� ����
� N �
>����	 ��
�	�
xj 8 ��� �����	 �
 �� ���	� ����	
��� ������ 	���� ��
�	� �� ��
��	 ����	
���B

wj(x) = δ(x− xj)

6"���� ����	
��� ��� �� ��:��� ������� �� �8 ��� �� 	��� 
� �
�
	� �� 	�� ������
�
�	�
��	
�� ����
	 ����	
��� �
	� �(���	�	
��� xj �� 	��
� ���
���� ���� 	� ��7

��� �� ���	
����� ����	
�� f(x)B∫ ∞

−∞
f(x)δ(x− xj)dx = f(xj)

	��������8 
��	��� �� 
�	����	
��8 ��� ��� �
��� ����	
	�	� xj 	� 	�� ����	
��B∫
Ω

L [u(x)] δ(x− xj)dx = L [u(xj)]

2����
 �. ����
�� $� 	�
� ��	��� 	�� ��
��	 ����	
��� ���

[wj(x)] = xj−1


��� 	�� ������� �� 	�� ���
�� 18 x8 x28 x38 � � �

2����
 �. E����$	
 #��� 2
� ������	�� 	� �����	 L��	 	�� ���
� ����	
��� ϕi(x)
�� ��
��	 ����	
���B

wj(x) = ϕj(x)

"�����	
��� ����
����	
��� ���� 	��	 	�
� ��� �� �� �'�
��	 �����	
���

-5�����

��� �
���
�
	 ��� 	���������� 8 ���� �� ����� 	�� ���
��� ��� �
���� ����	
��

d2U

dx2
+ U = −x

���� ����
� Ω = {0 ≤ x ≤ 1} �
	� ������� ����
	
��� U(0) = 0 ��� U(1) = 0�
2���8 �
	� ��� ��	�	
��8

L[U ] =
d2U

dx2
+ U

p(x) = −x
"�� �(��	 ����	
�� 
�

U(x) =
sin(x)

sin(1)
− x
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��� �����
��� ����	
��8 ��	 	�� ���
� ����	
��� ��

ϕi(x) = xi − xi+1 ≡ xi(1− x) (i = 1, 2, . . . ) 6
�*7

������� 	���� ��	
� 	�� ������� ����
	
���8 ��� �	�� ��	�� 	�� �������B

ϕ1(x) = x− x2

ϕ2(x) = x2 − x3

u(x) = α1ϕ1(x) + α2ϕ2(x)

�>��	 �� 	�� �
���� �
>����	
�� �����	�� �� 	�� ���
� ����	
��� 
�B

L [ϕ1(x)] = −2 + x− x2

L [ϕ2(x)] = 2− 6x+ x2 − x3

#����	�
 �	�� ��	
� ��������	�
� @� �����	 ���
	���
� 	�� ��
�	�� &�	 	���
�� x1 = 0.25 ��� x2 = 0.5� @
	� 	���� ������ �� ��	B

a1,1 = −2 + 0.25− 0.252 a2,1 = 2− 6 ∗ 0.25 + 0.252 − 0.253

a1,2 = −2 + 0.5− 0.52 a2,2 = 2− 6 ∗ 0.5 + 0.52 − 0.53

b1 = −0.25 b2 = −0.5

"��	 
� (− 29
16

35
64− 7

4 − 7
8

)(
α1

α2

)
=

(− 1
4− 1
2

)
"�� ����	
�� 
� ����
�� ���� 
�B

u(x) =
x(1− x)(42 + 40x)

217

#����	�
 �	�� ����
��� "�� ��
��	 ����	
��� ���B

w1(x) = 1, w2(x) = x

������	� �� 	�� �
���� � �	�� ���B

a1,1 =
1∫
0

(−2 + x− x2
) ∗ 1 dx a2,1 =

1∫
0

(
2− 6x+ x2 − x3

) ∗ 1 dx

a1,2 =
1∫
0

(−2 + x− x2
) ∗ x dx a2,2 =

1∫
0

(
2− 6x+ x2 − x3

) ∗ x dx

b1 =
1∫
0

(−x) ∗ 1 dx b2 =
1∫
0

(−x) ∗ x dx

"�� 
�	������ ��� �� �����	�� ���� 	
���� 
� 	�
� ����� 1����	�B(− 11
6 − 11

12− 11
12 − 19

20

)(
α1

α2

)
=

(− 1
2− 1
3

)
����	
�� 
� ����
�� ����B

u(x) =
x(1 − x)(122 + 110x)

649
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#����	�
 �	�� �����
 �. E����$	
� @�
��	 ����	
���B

w1(x) = x− x2, w2(x) = x2 − x3

������	� �� 	�� �
���� � �	��B

a1,1 =
1∫
0

(−2 + x− x2
) (
x− x2

)
dx a2,1 =

1∫
0

(
2− 6x+ x2 − x3

) (
x− x2

)
dx

a1,2 =
1∫
0

(−2 + x− x2
) (
x2 − x3

)
dx a2,2 =

1∫
0

(
2− 6x+ x2 − x3

) (
x2 − x3

)
dx

b1 =
1∫
0

(−x) (x− x2
)
dx b2 =

1∫
0

(−x) (x2 − x3
)
dx

"�� 
�	������ ��� �� �����	�� ���� 	
���� 
� 	�
� ����� 1����	�B(− 3
10 − 3

20− 3
20 − 13

105

)(
α1

α2

)
=

(− 1
12− 1
20

)

����	
�� 
� ����
�� ����B

u(x) =
x(1− x)(71 + 63x)

369

%�����	��
 �. ��� �������� "�� �����	� �������	�� 
� ��
�	� x = 0.258 x = 0.58
��� x = 0.75 ��� ��������B

���� ��� ��%�
�(��	 C ���##��# ����*%� �������

)������	
�� ���##*
� ���%�#
 �������
4����	� ���#
�*� ����!�! ����*�!
,����.
� ���##�!� ����*## ������*

9���	
� �	�� ��� ���

��� ��

	�	�
�

"���� ��� 	�� �
>����	 	����
���� ��� ����
�� �
	� ������� ����
	
����
4 ��� (�	
	 &����
��	� -�����
�� 	� 	�
� 	����
���8 ��� ��� 	� �����	 ���
�

����	
��� 	��	 ��� ��	
�� 	�� ������� ����
	
���� "�
� ��� �� ����
�� 
� 	��
����� �(������ C����	���	�� 8 :��
�� ������ ���
� ����	
��� 
� ��	 �� ��� 	��.8
��� 
� ��	 ���� ���� � ����
����

/�'��'
�� �
� (����� . ����
�
��	 
� �
� �,���
�� 	.	���� "�
� 	����
��� ���.�
��� ���� ���'�
��	� αi 	��	 ��	 ��� ������� ����� �� 	�� ��
� �
>����	
�� ����	
���
D[U(x)] = 0 ��.�� =��� ���� Ω ��	 	�� ������� ����� �� 	��	 ��� ���� 	���� �� 	��
������� ����
	
��� P1[U(x)] = 08 P2[U(x)] = 0 �	�� ���� 	�� ������� δΩB

∫
Ω

D

[
N∑
i=1

αiϕi(x)

]
wj(x)dx+

∑
k

∫
δΩ

Pk

[
N∑
i=1

αiϕi(x)

]
wj(x)dx = 0
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(j = 1, 2, . . . , N)

2��� �� ���
� ����	
��� ��� �� �����	�� ��	 ���� 	�� ������� ����
	
��� �
��
��	 �(��	� ��	
�:���

��"�" &�	��� �����	�
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��8 �	�� @��	 .
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�� 	� ����� 	�� ����� ��� O 2�� ��� �� 	�.� 
�	� ������	 �� 	�� ������8
�
>����	 ��	��
��� 
��
�� 	�� ����
�O

��� 	�
� �
�8 �� ����
�
�� ����
� Ω 	� ��� �����8 ��� �������� ������8
�������
�� 
�	�����
�� �	 	�� ������� �� 	�� �������
�� ��� B �
���8 �����8 ���
���	
���� "���� �������
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� ���0�
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��8 # 
� � �
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���8 ! 
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 �
����
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��� ���� ��	 ���� 
�	����	� ���� 	�� ����� Ω ����
�� ���� 
�	����� �� � �
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���
� ����	
�� ��� �� ���������� �� � ��� �� 
�	������ ���� 
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